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Ãã = 0
� = � �/2��\1 ��
/� � 5 !$%�/&�O1D��+ ��5 1"�R�6!$%$� I�� � ��� detA 6= 0

I�,]� � O��3��� � ã = 0
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5A� � 1��/� �n� x(t)
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G1���+ � ��� =85\,]�[) � � , C ,]�[1 � � � 	
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0� � ����	 ��2���+/� ��
�� � 
 � �G� 
/� � 
/�
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 � ���G��� \�+ � � ���G� � ��
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/��+ � ����� �n� � �>2�� 1324�&+/�&1��/��+0��
0�/��1 \ ���MK6�~� ����� �`� 5 � ������+0� 

M ∈ R

� × � ��
>E�� � � � O K

χ
M

(µ) = −µ
�
+ µ

�
· �/+ (M) − µ · ��+ ( �&	�Z M) + det M.

� � ��� ! �

� ����� � ��� � � � � $ 5 � 8 1 ��! C 8 %�� / % 8 � : � #&%�#&),<9) 76%�/ %$),5 �(< ����1 �	� C � � �*��/ �  $ 50� 8 1 ��! � �

det C = 0 ��/ 8 �/+
(
�&	�Z

C) ≤ 0
�

� 13)")&� � B ��� µ � , µ
� � � 	 µ � OY�(�/2��\����E�� � � � � ����
 � 5 C

� TV�L��2 � ��� �t� 
/
 � 5 E�� � ��+/� � �L� K ,�� �&
0
/���G�
�/24���

µ � µ
� ≤ 0

� � 	 µ � = 0
�@_ K � � �4���/� �n� � � ��� ! �]��2���
>����� � 
>��24�*� detC = 0

� � 	

χ
C
(µ) = −µ(µ

�
− µ · ��+ (C) +

��+
(
�&	�Z

C))

= −µ
(

µ
�
− (µ � + µ � )µ + µ � µ

� )

� � 	 �/2;��
��/+
(
�&	TZ

C) = µ � µ
� � �>2�� � ��2���+.	���+0��1��/� �n� , � +0) 
N� � � �t� E � ��
 �LK �
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T � ���&)&� �h� �^� � +/� � O�
0��+ � ���/� �n� � B ��� C �
	��CB � � � � �4�&	�+/��1^� � 	 � ��� T � ∈ R� × � OC� �

+/��E&� � �&+��^���/+/� 
 � �>2�� � IKO K M K �¢� ��
-����+ � 
 B � , � 5 = � ��+-������I
C �

	���B � ��
(� � B 7 � ���&	�+/��1 ⇔ C ′� = T � � C � T � 	���B � ��
(� � B 7 � �4�&	�+0��1 .
= � \4��+0����1�� � �&+]�/2���
.�G� � � 
 ��24���.�L5 det C = 0

I��/2�� � 
/��E � ( �/+ ( �&	TZ C ′)) =

/��E � ( ��+ ( �&	�Z C))

�

� ����	�� 
 � ��	 ��� � ��� � %�� � � ) $ 5 � 8 1 ��!$� A ��/ 8 B ��% 8 %�� / % 8 � : � #&% #&),<9) 76%�/ %$),5 � < ����1���!$%$�

A � ��/ 8
B � � � % ! ��+-+I�-#&% �"%���)&� $ 50� 8 1 ��!$� QA �B

8 %�� / % 8 � : �-#&%(< ���O1 ��!$%$�

QA �B � � (λ) = A � + λB � , λ ∈ R

� #&% �&%�/ !��-+ 76%�/ %�1D���Q% 8 � : A ��/ 8 B !�),1 � 1 ��%�� : �-#&% �&%�/ !��-+�)&� A ��/ 8 B �
I � � ��+ �MK I � ���K� �4�&	�+0��1�
 � � ��2���\C� � 1�� �N� 5 A � � 	 B � � ����+0
/��1��>� � ��2���
��&�G�(1���+ � �&� �>2��(5 �&���t� ,.� � E
� ���G��� 
/2 � ,.
.,.24���.��2�� 	�������+/�G� � � � � � 5 QA �B(λ) � �D� );
 � ��)&���
� ����� � ��� � � � � %�� A,B ∈ R

� × � ��%���1 � �-�O1D��1 : < ����1 ��!$%$� � � #&%�/

det(A + λB) = λ
� · detB + λ

�
· �/+ (A · �&	�Z B) + λ · �/+ (B · �&	�Z A) + detA.

� 13)")&� �

det(A + λB) = det
(

(−AB � � − λE) · (−B)
)

= − det(−AB � � − λE) · detB

= −χ �
AB

� � (λ) · detB

=
(

λ
�
+ λ

�
· ��+
(

AB � � )+ λ · ��+
( �&	TZ

(AB � � ))+ det(AB � � )) · detB

= λ
� · detB + λ

�
· �/+ (A · �&	�Z B) + λ · �/+ (B · �&	�Z A) + detA.
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>1 � � \����3���/� �n� +0� � ����+/��
.��2���� B
��
>+/��E�� � ��+�� � �]�W� ��+/1 � �G� �/2���
�I�,�� �&
0
/���G�\��24�*�

A = (A � � � ) �� � � � � , B = (B � � � ) �� � � � � ∈ R(A � � � , . . . , A � � � , B � � � , . . . , B � � � )
� × �

�&+/�\
 K � O ��� ��1������/+/��1���
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/� � � � � R
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/
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0�(��2���� det(QA �B(λ))

��
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0��� � � �MK R���+ � � B � � T �
OC���

+ � ������� �n� �^�*��+/� 
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T � � BT � =

	�� �&E
(µ � , µ

� , 0)
I�� � 	W
0���

T � =
	����&E

(

1
√

|µ � |
,

1
√

|µ � |
, 1

)

.



� ��� �A561 
 %$����/ 8�� 561"�R�6!$%$� � �

T � 	��CB � � T = T � T
� � � 	 
0���

B̃ = σ·T � BT
� � 	 Ã = σ·T � AT

,.�L��2
σ =


0��E � (µ � )
� �>2�� � I

B̃ =
	����&E

(1, 1, 0)
� � 	 f(λ) :=

�/+
(
�&	�Z

(Q
Ã � B̃(λ)))

24��
 ��2��\
/�&���(
/��E � �&
 ��+
(
�&	�Z

(QA �B(λ)))
�

T +/�L��� � E f(λ)
� � 1 � � \ �n� � � ��
 � 5 Ã

� � 	 B̃
,�� E����

f(λ) =
(

Ã �&� (Ã � � + λ) − Ã
�� � )+

(

Ã �&� (Ã � � + λ) − Ã
�
� �
)

+
(

(Ã � � + λ)(Ã � � + λ) − Ã
�
�
� ),

,.2���+/����2��N�&	�	�� � 	�
]� � \4�&+0� � ��2���
/��
>�&+0���/2��.	�� �&E �n� � � � � ����� � �/
 � 5 �&	�Z (Q
Ã � B̃(λ))

� 9 + � � ��2���

,]� 1 � � \����/����2�� 	���
/1�+0���G� � � � � � 5 f(λ)

��


1

4
(Ã � � − Ã � � )

�
+ Ã

�
�
� + Ã

�
� � + Ã

�� � + Ã
��&� ≥ 0,
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/
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det(QA �B(λ))
��
 �~� �@1 �n� 
0��� � � �LK R���+ � � �>2�� � ,���1 � � B � 	^� � � � ���

λ̃ 6= 0
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det(QA �B(λ̃)) 6= 0
� B � � B̃ � = A � + λ̃B �

�H=85 ,]� �~� ,V1 � � B � 	 � � � � ���.5 � +
λ

/��132���24���

A � +λB̃ �
	��CB � ��
 � �9B 7 � ���&	�+/��1&I$��2�� � λ 6= −1

OC��1 ����
/����2���
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��&�G� � ���&	�+/��1
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QA �B � �
(

λλ̃

1 + λ

)

� � 	^,]�\�&+/��	 �n� �&� M�� � 1�� det(B̃) 6= 0
I;��2�� \ �&�MK6�~� �G� � � det(Q

A � B̃(λ � )) 2��&
�	���E�+/���N�/2�+/���\� � 	�/2;��
\24�&
\��+/� � � + �D� � λ � � B � � µ � , µ
� � � 	 0

OC� ��2�� ����E�� � � � � ����
 � 5 Q
A � B̃(λ � ) �N=85 µ � µ

� ≤ 0
I

�/2�� � ,��\��+/��	 �n� ��� Q��/2���+-,.��
0� � � � P � � � = Q
A � B̃ � � (λ � ) � � 	 � ��� T �

OY�(� +/��E�� � �&+]�����/+/� 
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P � = T � � P � T � =
	����&E

(µ � , µ
� , 0).

T � 
/� �
T � � � =

	�� �&E
(T � , 1)

� � 	 P � � � = T � � � � P � � � T � � �
�@_ K 
/� �/��� � E σ =


/��E � (µ � )
� � 	

P � � � = σ · T �� � � P � � � T � � � ,
,.2���+/�

T � � � =
	����&E

(

1
√

|µ � |
,

1
√

|µ � |
, 1, 1

)

,

,]� �&132���� � � P � =
	����&E
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� B ��� Q � = T �� � � T � � � � B̃T � � � T

� � �
� =85

Q � � = 0
,]� 
0���

T � � � = E
� Q(��2���+0,.��
0�\,�� 	���B � � �/2��\��+/� � 
05 � +/������� �n�

T � � � =
	�� �&E
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1
√

Q
�
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�� �
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Q � � Q � �
−Q � � Q � �

]
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)
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0��� �/24���

P � = P � � � 	 � ��+/�L5 K�/24���

R =





R � � R �
� 0

R �
� R � � R � �

0 R � � R �&�



 .

T � �~� , 	���
0�/� � E�����
/2U�/2�� 1 �&
0��

R � � = 0

� � 	 R � � 6= 0
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R � � = 0
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� �>2�� � ,]� 2�� � �

P � =





0 a 0

a b c

0 c 0





� � 	 1 � �&��� �/24���
P � � �

	��CB � ��
N� � B 7 � �4�&	�+/��1��@_������&
 det(P � ) = 0
I���2���
 5 ����� � ,.
 ���G��� 7

	�� �*��� �LK 5A+ � � � ������� �����&����5 �n� � � O�
0��+ � ��
>��2������/+ ( �&	�Z P � ) = −c
�
− a

�
≤ 0

�H=85 ,]�\
/���

T � = T � � � T
� � � T � � � I�,�� � O����&� �

P � � � = −σR � � T � � QA � B̃ � � (λ � )T � ,
,.2���+0�

λ � = λ � −
1

σR � �
.

T � ) �~� , ��24�*�
R � � 6= 0

OC��1��&��
/� � ��2���+0,.��
/� ��2�� �^���/+/� 

R �

, � � � 	 � � +/� ��	 K 	���B � � � �
B 7 � �4�&	�+0��1�I4� � 	U��2;��


B̃ �
, � � � 	 	���B � � � � B 7 � �4��	�+/��1&I4�&
>,]� ��� �

���
R � � 6= 0

� = � ��2���
.1 �&
0� ,]� 
0���
S � = ������ R � � T � 	�� ����+0��� � � � � � � ��� α ∈ R


/��132W��24���

det(S − αP � ) = 0
� �>2���
 � � � ���\��
 ��2�� 
 ��� ����� �h��� 5 � � �4�&	�+/������1\� � �4���/� �n� �

β = S � � − S
�� � ,

γ =

√

(S � � − β)
�
+ 4S

�
�
� ,

α =
1

2
(S � � + β ± γ).

� ���L��� �

M�� � 1�����2��\	���
01�+/����� � � � � (S � � − β)
�
+ 4S

�
�
� ≥ 0

I�
/��132 � � α
1 � � � � ,�� K 
>OY��5 � � � 	 �HT �

) �~� , ��2����
α 6= 0

OC��1 ����
/� � ��2���+0,.��
/�\��2�� 	�������+/�G� � � � � � 5 B̃
, � � � 	 OY�\R���+ � IK,.2���132 ��


�G1 �n� ��+/�&	���1 ��� �n� � ��� ��+N132 � ��1�� � 5 B̃
� X � , ,]� 	��CB � � P � � � = S � − αP� � �

��=85 ,�� 1 � �

/2 � , ��24���.�/2���
>������+0� 
^	���B � ��
N� � B 7 � �4�&	�+0��1�I�,�� 24� � �

P � � � = −ασT � � QA �B � � (λ � )T � ,
,.2���+0�

λ � = λ � −
1

ασR � � ,
� � 	 ,�� �&+0� 	 �n� ��� = � � +/	���+:� � 
/2 � , �/24���

P � � �
	��CB � ��
 � � B 7 � �4�&	�+0��1&I ,�� ��
/�

� ������� ���L�����

�/+
(
�&	TZ

(P � )) = S � � + S � � − S
�
�
� − S

�� � − 2α + (S � � − α)(S � � − α)

= S � � + S � � − S
�� � + S

�� � S � � − 2α − S
�� � α.

�>2�� � �&
-� � � �4� � ��� K 2 ��� 	�
 OC��1��&��
0� det(P � ) = (S � � −α)(S � � −α)−S
�� � (S � � −α)−S

�
�
� = 0

�
JN
0� � E � � �4�*��� �h� � ���L��� �],]� � O��3�&� �

��+
(
��	�Z

(P � )) =
1

2
S
�� � (S �� � + S � � − S � � ) ∓ (1 +

1

2
S
�� � )γ.
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_ K 5A��+-��2���+.�/+�� � 
05 � +0�^���/� �n� 
�,�� 
02 � ,
(

(1 +
1

2
S
�� � )γ

)

�
−

(

1

2
S
�� � (S �� � + S � � − S � � )

)

�
= γ

�
(1 + S

�� � ) + S
�
�
� S � � � ≥ 0.

�>2���
]� � 
0��+/��
���24�*����+ ( �&	�Z (P � )) ≤ 0
2 ��� 	�
�I5\�+ �W� ��	���	^��24�*�],]��132 �6� 
/����2�� \ � ��
-7 
0��E � � �

� � �4���/� �n� � � ����� � �
= � 5 �&1��^,��:24� � � \�+ �W� � � �/2��[5 �����t� ,.� � E 
0�/+ �n� E���+ � ��+0
/� �h�{� 5 ��2�� � +/��� ���L� !�� =85

f(λ) =

det(QA �B(λ))
��
 � � � 1 �n� 
0��� � � �LK R���+ � I��/2�� � �/2���+0� ��
 �N+0� � � + �D� � λ � � 5 f 
0��132 ��24�*�

QA �B � � (λ � )	���B � ��
 � � B 7 � �4�&	�+/��1�� =85
f
��
 1 �n� 
-�3� � � �LK R���+ � IN��2�� � 5 � +U���&132 +0� � � + �D� � λ � � 5 g(λ) =�/+

(
�&	�Z

(QA �B(λ)))
��2�� ������+0� 


QA �B � � (λ � ) 	���B � ��
\� � B 7 � �4�&	�+/��1�� �>2���
NE&� � ��
N��
(� ��� ��2 � 	
� � �RMY��1��/� � � �MK 1 � � \����/� � � B 7 � �4�&	�+/��1U1 �n� �3�&� � � � E[��2��U� � ����+0
/��1���� �n� 1���+ � � OC��� ,]��� � A � � 	
B � 9 ��+0
0�G1 � � \����/� �/2�� �*�^� � 
0�G1���O���1 \ ���MK6�~� �G� � � f

� =85 ��� � � ��
0� �n� � � 5��L��
G1 � �R@G1���� � ��

��
 �~�h� 7 R���+ � I ��2�� � �/2���+0� ��
 ��� � � ��
0� �h� �^+0� � � + �6� ��� 9j� + � ��� �/2���
0� + �6� �/
 λ � 132���13) ,.2�����2���+
�/+

(
�&	�Z

(QA �B(λ � ))) ≤ 0
� =85@
 � IY��2�� � ,]� 24� � � 5 � � � 	 � � B 7 � ���&	�+/��1&�\=85]� ��� 1 � ��@�1���� � �/
 � 5 f��+/� R���+ � I ��2�� � 1 � � \������ ��2�� � �4��	�+����/��1 \ ���MK6�~� �G� � � g

� �>2���+/�G��
 � +/��� � + �6� � λ � � 5 g
I � � 	

�/2���
.+ �D� � � � ��	�
.��
>� � � � B 7 � �4�&	�+0��1��
= � �/2���5 �&���t� ,.� � E�I&,]��,.� ��� 	���
/1�+/��OC��� � 	������&� � 2 � , � � 	�������+/�G� � �N� \4�&+������ ����+0��R������ �n� � 5 �/2��

� � ����+0
/��1���� �n� 1���+ � � OY� � ,���� � � � �&+0O����/+��&+ K � �4�&	�+0��1 A � � 	 � � B 7 � �4�&	�+0��1 B � 9 ��+/
0��I�,]� 132���13),.2�����2���+
B = 0

�H= � ��2���
>1 ��
/� B 2��&
>��2�� � � �4�*��� �h� b � x + b � = 0
�@=85

b = 0
I���2�� � �/2���+0� �&+/�

� , � \ � 
0
/��O�� � ��������
�� =85 b � = 0
I���2�� � �/2��\� � �/��+/
0��1 ��� �h� OY� � ,���� � A � � 	 B ��
��/2���,.2 ��� � � �4�&	�+0��1

A � =85
b � 6= 0

I��/2�� � A � � 	 B 	 �]�~� ��� � �/��+/
0��1 �����N� ��� �H=85 b 6= 0
I���2�� � B ��
�� \ � � � � � � 	 ��2��

� � ����+0
/��1���� �n� 1���+ � � ��
(� 1 �n� ��1&��= � ��2���
.1 �&
0� ,]� 
0���
n = b/|b|

� � 	W132 �D� 
/� � ��1 � � +0
 u
� � 	 v,.�L��2

|u| = |v| = 1
� � 	 u � v = 0

� _ K 
/���0��� � E T � � � =
	�� �&E

([u, v, n], 1)
,]� � O��3�&� �

C � = T � � � � B � T � � � =









0 0 0 0

0 0 0 0

0 0 0 c �
0 0 c � c �









,

,.2���132 	���B � ��
�� \ � � � � \4��+�� ��� � � � � ��2�� (x, y)
76\ � � � ��� TV���/2 �/2��\��+/� � 
 � ����� �n� ������+0� 


T � � � =

[

E v

0 � 1

]

, v =





0

0

−
���� � �



 ,

T �� � � C � T � � �
��
 � � �4� � � � �/2�� (x, y)

76\ � � � � � � 	 1 � � OC�S\��&+��&�G���/��+0��R���	 O K x(λ, µ) = [λ, µ, 0] � �T � 	��CB � � ��2�� �/+�� � 
05 � +0�^���/� �n� T � = T � � � T
� � �

� � 	 �/+�� � 
05 � +0� ��2�� � ���&	�+/��1 A O K 
/� �/��� � E
Q � = T � � A � T � � =85 ,�� 24� � � � \4�&+/�&��� ����+/��R������ �n� x(µ) � 5 �/2�� � � ����+0
/��1���� �n� 1���+ � � OC��� ,]��� �
�/2�� � �4�&	�+0��1�	���B � ��	 O K Q �

� � 	 ��2��
(x, y)

7�\ � � � �&I;��2�� � c(µ) = T � (x(µ) + v)
��
 � \4�&+/�&�G� 7

�/��+0��R �*��� �h��� 5 ��2�� � � �/��+/
0��1 ��� �h� 1���+ � � OY� � ,���� � A � � 	 B �@T � � O����&� � x(µ)
��
.5 �&���t� ,.
�� 9 ��+0
0��I

,]� � � 
0��+-����2�� \4�&+������ ����+0��R������ �n� � 5@�/2�� (x, y)
7�\ � � � � � � � � ��2�� � ���&	�+��*����1 5 � +/� 	��CB � � � E ��2��

� ��2���+ � �4��	�+/��1 � � 	 � O��3��� �
[λ, µ]

[

Q � � Q �
�

Q �
� Q � �

] [

λ

µ

]

+ 2[λ, µ]

[

q �
q �
]

+ q � = 0.
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T � 24� � � � � +/� ��	 K 
0��� � � � ��2��J\��&+��&E&+���\�2 �&O � ����1 �n� ��1�
.2 � , � � \4��+��&�G���/��+/��R�� � 1 �n� ��1\E�� � � �
� � ��2���
 5 � +/� �
X � , ,]� 1 �n� 
/��	���+ ��2��^
/�L���4�*��� �h� ,.2�� � B 6= 0

� = � �/24��� 1 �&
0�^,]�^	�� ����+0��� � ��� ��+/� � 
-5 � +-7
�^���/� �n� ������+0� 


T �

0��132 ��24���

T � � B � T � ��
 � 5 � 5 � +/� ��24�*�U� ���t� ,.
���
^� � B � 	V� 
/��� \ � �\4�&+������ ����+0��R������ �n� x(t, λ)
� � 2 � � � E�� � � � ��
 1 �D� +0	�� � ������
 � 5���2�� B 7 � �4��	�+/��1�	��CB � ��	 O K ��24���

�^���/+/� 
 � �>2���
 \4��+��&�G���/��+/��R ���/� �n� ,.� ��� 24� � � ��2��\5 � +0�
x(t, λ) = p(t) + λr(t),

,.2���+0�
p
� � 	 r

��+/� \ ���MK6�~� �G� � �N� ��1�� � +/
�
��*����
-5 K � � E ��2�� 1 �n� 	��L��� �n�
deg(p) + deg(r) ≤ 2.

� ���L��� �

�>2�� � ,�� �/+�� � 
-5 � +/� ��2�� � �4�&	�+/��1 A ,.���/2 ��2�� �/+�� � 
-5 � +/�����/� �n� T �
O K 	���B � � � E Q � =

T � � A � T � � X � , ,]� 	����/��+/�G� � � � \4�&+/�&�G������+/��R ���/� �n� c(t)
� � 2 � � � E&� � � � ��
 1 �6� +/	�� � ���/��


� 5��/2���� � ����+0
/��1���� �n� 1���+ � �^OC��� ,]��� � ��2�� ��+/� � 
05 � +/�G��	 � ���&	�+/��1�
�� �>2��^� � ����+0
/��1���� �n� 1���+ � � � 5
��2�� � +0��E�� � � � � �4�&	�+0��1�
 A � � 	 B 1 � � �/2�� � OC� \4�&+/�&��� ����+/��R���	:O K T � c(t)

� = � � +/	���+�� � B � 	
��2�� \4�&+/�&��� ����+/��R������ �n� c(t)

I ,���� � 
0��+0� x(t, λ)
� � � � ��2�� � �4�&	�+����/��1 5 � +/� Q �

� � 	 � O��3�&� � �
\ ���LK6�~� �G� � �

f(t, λ) = α(t)λ
�
+ β(t)λ + γ(t) = 0,

,.2���+/�

α(t) = r(t) � Q � r(t),

β(t) = 2p(t) � Q � r(t) � � 	
γ(t) = p(t) � Q � p(t).

=85]�/2�� \ �&�MK6�~� �G� � � 
 α
� � 	 β

�&+/� �~� � O � �/2 1 �n� 
-�3� � � �MK R���+ � I ��2�� � ,]� 1 � � 
 �&� � � �/2���
�5 � + λ� � 	 � O����&� � � 5A� � 1���� �n� λ(t)
� �>2�� � ,�� 24� � � c(t) = x(t, λ(t))

� =85
α
��
 � � �>1 �h� 
0��� � � �MK R���+ � I

��2�� � �/2���
 5A� � 1���� �n� 24�&
>��2�� 5 � +/�

λ(t) =
−β(t) ±

√

D(t)

2α(t)
,

� ���L�&F �

,.2���+0�
D(t) = β(t)

�
− 4α(t)γ(t)

��
N�/2�� 	���
/1�+/���G� � � � � � 5 f
,.�L��2 +0��
 \Y��1���� � λ

�\_���1 �&��
/� � 5
1 �n� 	������ �n� � � ����� � I�,]� 24� � � deg(D) ≤ 4

�H= � ��2�� 1 ��
/�
α ≡ 0

� � 	 β 6≡ 0
I�,]� 24� � �

λ(t) = −
γ(t)

β(t)
.

� ���L� ' �

=85
α ≡ β ≡ 0

I��/2�� � f
	 � ��
 �~� �N	���\C� � 	 �n� λ

�H= � �/2���
>1��&
/� ��2���+/� �&+0�\��2�+0��� \ � 
/
/��O�� � ���/����
��
���

f ≡ 0
� �>2�� � �/2�� � ���&	�+/��1 A � � 	 B ��+/� ��	�� � ����1�� � �

���
f(t) 6= 0

5 � +.� ��� t
� �>2�� � A � � 	 B 	 �]�~� �.� � �/��+0
/��1 � �

F�� Q(��2���+0,.��
0�&I 5 � +�� �&132 � 5@+ �D� � t � � 5 f(t) = 0
,]� 24� � � � 
0�/+��&��E�2$� � � � � c(λ) = x(t � , λ)

�
�>2�� � � ����+/
0��1��/� �n� 1���+ � � ��
 �/2�� � � � �n��� 5 �/2���
0� � � � ��
��
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T �

� � 	:,.24���(��2�� \��*7
+/�&�G������+/��R ���/� �n� 
 x(t, λ) � 5 �/2�� � �4��	�+/��1�	���B � ��	 O K T � � B � T � �t�6� ) � ��)&��� �(��+/� � E � ��+ 5A��+-��2���+
1 � � \����3�*��� �h� 
 ,��\,.� ��� � � , � K 
.)&����\W�/2�� �^�*��+/� 


T �
�&
 ,]� ��� �&
.���/
>� � � ��+/
/� ��\ � � 	4���/�&�

9 ��+0
0��I ,��Y\C��+-5 � +/� ��\�+/� � 1��M\ � �^� 
���
 �/+�� � 
05 � +0�^���/� �n��� 5 B
� T � 	�������+/�G� � � � �^���/+/� 


U
0��132 �/24���
U � BU =

	�� �&E
(µ � , µ

� , 0)
� � 	 |µ � | ≥ |µ � | � =85

µ � < 0
��2�� � ,]� � � � �/� \ �LK B �O K −1

� �>2���
 	 � ��
 � � � 132�� � E��^�/2�� B 7 � ���&	�+/��1^� � 	 ,]� 1 � � �&
/
0���G�^� � ��2���5 �����t� ,.� � EU�/24���
µ � ≥ 0

�.T � 
/���
U � =

	�� �&E
(U, 1)

� � 	 P � � � = U � � B � U � �NT � 	���
0�/� � E&����
02W��2�� � , � 1 �&
0��

µ � > 0, µ � = 0

� � 	 µ � > 0, µ � < 0
�

�S����� !��
µ � > 0, µ � = 0�>2�� � P � � �
	���B � ��
^�/2��W��� \�� K 
0����I.� 	 � ��O � � \ � � � �&I�� , � \��&+�� ��� � � \ � � � ��
 � +^��\4�&+/�&O �&� ��1

1 K � � � 	���+�� P � � �
2��&
>��2��\5 � +0�









µ 0 0 p �
0 0 0 p �
0 0 0 p �
p � p � p � p �









.

T � 	���
-��� � E�����
/2 � , � 1 ��
/��
��

�&�
p � = p � = 0

� = � �/2���
 1 �&
0� P � � �
	���B � ��
H��2��>��� \�� K 
0����I��N	 � ��O � �2\ � � � � � + � , � \4�&+/� ��� � �\ � � � ��
��HT � 	���B � � � ��+/� � 
 � ���/� �n� O K

T � � � =

[

E v

0 � 1

]

, v =

[

−
p �
µ

, 0, 0

]�

,.2���132 K ��� � 	�
 P � � � = T � � � � P � � � T � � � =
	�� ��E

(µ, 0, 0, q � ) � T � ���&)�� �n� � � � +/� �/+�� � 
 7
5 � +/������� �n� O K 
/� �/�/� � E T � � � =

	����&E
( �√ � , 1, 1, s)

� � 	 P � � � = T �� � � P � � � T � � �
,.���/2

s =

{ �√ � � � �
��5

q � 6= 0,

1 � �/2���+-,.��
0� .
�>2�� � ,]� 24� � � P � � � =

	����&E
(1, 0, 0, t)

,.���/2
t ∈ {±1, 0}

� �>2�� ��+�� � 
05 � +0�^�*��� �h� �����/+/� 

��
.E�� � � � O K T � = U � T � � � T

� � �
� =85

t = 1
I4�/2�� � P � � � 	��CB � ��
���2�� ��� \�� K 
0���\� � 	 �/2��

� , � � �4��	�+/��1�
(	 �$�~� �N� � �/��+/
0��1 � �>= � �/2�� 1��&
/�
t = 0

,�� 24� � � �G	 � ��O � �J\ � � � � �/24���N1 � �
OY� \4�&+/�&�G������+/��R���	U,.�L��2

x(λ, µ) = [0, λ, µ, 1] � �H=85 t = −1
I��/2�� � ,]� 2�� � � � , � \��&+�� ��� � �\ � � � ��
 x(λ, µ) = [±1, λ, µ, 1] � �

� �
p � 6= 0 � + p � 6= 0

�]T � � � � � E�� ,]� �&
0
/���G� �/24���
p � 6= 0

� � 	 	���B � � ��2�� ��+/� � 
05 � +/������� �n�
�^���/+/� 


T � � �
[

T � v

0 1

]

, T � =





1 0 0

0 R � R �
0 −R � R �



 , v =





v �
v �
0





,.����2
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R � =
p �

√

p
�� + p

�� , R � =
p �

√

p
�� + p

�� ,

v � = −
p �
µ

, v � =
p
�
� − p � µ
2p � µ .

TV���/2 �/2���
>	���B � �L��� �n� ��2�� ������+0� 

P � � � = T � � � � P � � � T � � �

2��&
>��2��\5 � +0�

P � � � =
	�� �&E (

1, 0,

[

0 1

1 0

])

.

T � B � � ���LK 
01 � � ��,.����2 ��2��\�^���/+/� 


T � � � =
	�� �&E (

1, 1,
1√
2
,

1√
2

) � � 	 � O����&� �

T � � � = T �� � � P � � � T � � � =
	����&E (

1, 1,

[

0 ��
�� 0

])

.

�>2���
 	���B � ��
 �]\4��+��&O ��� ��1]1 K � � � 	���+ ,.����2 ��2��2\��&+��&�G���/��+0��R �*��� �h� x(t, λ) = [t, λ, −t
�
, 1] � �

T � = U � T � � � T
� � � T � � � .

�2������8 �
µ � > 0, µ � < 0= � �/2���
>1��&
/�

P � � � =









µ � 0 0 p �
0 µ � 0 p �
0 0 0 p �
p � p � p � p �









	���B � ��
 �[2 K \Y��+/O ��� ��1 \��&+��&O ��� � ��	 I �[2 K \Y��+/O ��� ��1�1 K � � � 	���+ � + � , � � � ����+/
0��1��/� � E \ � � � ��
��WT �
	���
-��� � E�����
02 � , � 1 ��
/��
��

���
p � 6= 0

� 9 ��+/
-�>,�� 	��CB � � � �/+�� � 
 � �*��� �h�
T � � � =

[

E v

0 � 1

]

, v = [v � , v
� , v � ] � ,.���/2

v � = −
p �
µ �

, v � = −
p �
µ � , v � = −

p � v � + p � v � + p �
2p � .

T � 
0���
P � � � = − �� � T � � � � P � � � T � � �

� � 	 � O��3��� �

P � � � =
	�� �&E ([ ν � 0

0 ν �
]

,

[

0 −1

−1 0

])

,.���/2
ν � < 0

� � 	 ν � > 0
� M�1�� � � � E ,.���/2 �/2�� �^�*��+/� 


T � � � =
	����&E

(

1
√

|ν � |
,

1
√

|ν � |
, 1, 1

)

� � ��	�
 � �

P � � � = T �� � � P � � � T � � � =
	����&E ([ −1 0

0 1

]

,

[

0 −1

−1 0

])

.
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T � B � � ���MK 	��CB � � ��2�� + � �3���/� �n�

T � � � =
	�� �&E

([

�√� − �√ �
�√� �√ �

]

, 1, 1

)

� � 	 � O����&� �

P� � � = T �� � � P � � � T � � � =
	����&E ([ 0 1

1 0

]

,

[

0 −1

−1 0

])

.

�>2���
 	���B � ��
 � 2 K \C��+0O ��� ��1 \4�&+���O ��� � ��	 ,.���/2 ��2�� \4�&+������ ����+0��R������ �n� x(t, λ) =

[t, λ, tλ, 1] � � �>2�� ��+/� � 
-5 � +/������� �n� ������+0� 
^��
>E�� � � � O K T � = U � T � � � T
� � � T � � � �

� �
p � = 0

� T � 	��CB � � ��2��\�/+�� � 
 � ���/� �n�
T � � � =

[

E v

0 � 1

] ,.�L��2
v =

[

−
p �
µ �

, −
p �
µ � , 0

]

� � 	 � O��3�&� � P � � � = T � � � � P � � � T � � � =
	�� ��E

(µ � , µ
� , 0, d � ) � T ��	���
-��� � E�����
/2 � , � 
/��O�7

1 �&
0��
��

� �
d � 6= 0

�H=85
d � < 0

I���2�� � ,�� 
/� �
T � � � = E

� Q(��2���+0,.��
0� 	���B � �

T � � � =
	����&E ([ 0 1

1 0

]

, 1, 1

)

.

T � 
/� �
P � � � = − �� � T �� � � P � � � T � � � =

	�� �&E
(ρ � , ρ

� , 0, −1)
,.����2

ρ � > 0
� � 	 ρ � <

0
� 9 � � � ���LK I;,�� 
/1�� � �\,.�L��2U��2�� ������+0� 


T � � � =
	�� ��E ( 1√

ρ �
,

1√
−ρ � , 1, 1

) � � 	 � O��3�&� �
P � � � = T �� � � P � � � T � � � =

	�� �&E
(1, −1, 0, −1),

,.2���132 	���B � ��
N� 2 K \C��+0O ��� ��1\1 K�� � � 	���+ ,.���/2U��2�� \4�&+/�&�G������+/��R ���/� �n�
x(t, λ) = [±(1 + t

�
), 2t, λ, 1 − t

�
] � .

�>2��\��+�� � 
05 � +0�^�*��� �h� �^���/+/� 
 ��

T � = U � T � � � T

� � � T � � � �O
�
d � = 0

� �>2�� � 
/1 � � � � E � � 	 + � ������� � E ,.���/2

T � � � =
	����&E ( 1√

µ �
,

1√
−µ � , 1, 1

)

· 	�� ��E
([

�√� �√ �
− �√ � �√ �

]

, 1, 1

)

� ���&	�
 � �

P � � � = T �� � � P � � � T � � � =
	�� �&E ([ 0 1

1 0

]

, 0, 0

)

.

�>2���
.	��CB � ��
.� , � � � �/��+0
/��1 ��� � E \ � � � ��
>,.���/2 �/2�� \4�&+/�&��� ����+/��R������ �n� 

x � (t, λ) = [t, 0, λ, 1] � � � 	
x � (t, λ) = [0, t, λ, 1] � ,

� � 	 ��2����/+�� � 
-5 � +/�����/� �n� ������+0� 
^��

T � = U � T � � � T

� � �
�
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����
 � 	 !�� ��� 	 !# �� 	�� ��� � �  �  ��	 �  ����
= � ��2���
�
0��1 ��� �h� ,��W,.� ��� E�� � �W
 � �G�W�����/2�����������1 � � O��&13);E�+ � � � 	 ��24�*��,.� ��� OY�W��
/��	 � � ��2��
5 ����� � ,.� � E 1324��\�����+0
��>T � 
-�3�&+-�(O K E�� � � � EG�GO�+0��� 5 � � �/+ � 	���1��/� �n� � � � � �/��+ � � � �&+0���/2���� ����1&� �>2���

,.� ��� OC�^��
/��	 � ������+ � � �/2���
 
/��1��/� �n� ,.2�� � ,]�^	���
/1�+0��OC� �G����2 � 	�
 5 � + B � 	�� � E[+ �D� ��
 � 5 \ �&�MK 7
�~� �G� � � 
�I ��
 ,]� ��� �&
 � � F��L���L� ,.2���+0�G�L�\,.� ��� OC� ��\�\ � ����	 � � ��2�� 	 K6� �&�G��1 1 ����� ��
0� �n� 	����/��1��/� �n�
5 � +�O � � � 	�� � E �n��� ���G��
�� XN��
���I ,�� ,.� ��� � � �/+ � 	���1�� ��2�� �~� �/� �n� � 5]+0��
0� � ��� � ��
�I ,.2���132:,�� ,.� ���
��
/� 5 � +(�/2�� � � ���G� � ���/� �n��� 5 � �&+/���&O � ��
�� � 
 K 
0�/���G
 � 5S\ ���MK6�~� ����� � � � �4���/� �n� 
�� �>2�� � I ,�� ,.� ���
	���+0� � � � ��1���
0
��&+ K 1 �h� 	����/� �n� 
 5 � + ��2�����
���
-��� � 1�� � 5>�3� � E&� � ����� � � � ����+/
/��1��/� �n� \ � � � �/
 OC��� ,]��� �
� , � � �4�&	�+0��1�
 � +�� , � 1 �n� ��1�
�� `N56����+���24�*� I ,�� ,.� ��� 	���
/1�+/��OY� � , � 1 �n� 1���\���
 5 � +\+0��\�+0��
/� � ��� � E
+ � ������� �n� 
�I � �&�G� �MK ��2��G+ � �3�*��� �h� �^�*��+/��1���
\� � 	 ��2�� � �4�*����+ � � �h� 
�� T � 1 � � 
/� �/2���
\
0��1��/� �n� O K\�+/��
/� � �/� � EG
 � �G�\�G����2 � 	�
>5 � +2B � 	�� � E �/2�� + �6� ��
 � 5 \ ���MK6�~� ����� � 
��

D�� � ��� ��%���) 0��N�  ��P0>�$� 6GF )+�����
= � ��2���
@
/��1���� �n� ,��NE�� � �N� � ��+ K O�+0����5 � � ��+ � 	���1��/� �n� � � � � �/��+ � � � ��+/���/2��G������1&� ` E �D� 	 � � ��+ � 	���1 7
��� �h� � � ��2���
 B4� � 	 1�� � OY��5 � � � 	W� � ;"M � K O$� = �
�>2��[E�� � ��+�� � ��	���� ��
 � � 1 � � 1�� � ����� ,.���/2 � � ����+ � � � 
 � 5 +0� � �x� ��� OC��+/
^� � 
-��� ��	 � 5��/2�� +/��� �

� ��� OY��+/
 ��2�����
0� � � ��
�� � � ���&)&� ��2���
 � � +0� \�+0��1���
/��I � � � IR = {[a, b] ⊂ R | a ≤ b}
	�� � � ���

��2�� 
/� � � 5 �~�n� 78��� \�� K � � ����+ � � � 
�� �>2�� � IK5 � +�� � K 5A� � 1��/� �n� f : R → R
� � �-/ !�+.54����),/ � 5 / !�����),/

f̃ : IR→ IR
��
.�&
/
 � 1�� ���/��	 I4
0��132W�/24���>5 � +.� � � � ����+ � � � I ∈ IR

���.2 ��� 	�
 ��2����

x ∈ I⇒ f(x) ∈ f̃(I).

�>2���
 	���B � ���/� �n� ��
 E�� � ��+�� � ��R���	 1 � � \ �h� � � � ,.��
0��� � 5A� � 1 ��� �n� 
 f : R � → R � � JN
/��� ���LK I ��� ��

1 � ���&+ 5A+ � � ��2�� 1 �h� �/��
 ��,.2����/2���+���2�� �&+0E����G� � ����
��G+0� � ��� ��� OY��+ � +N� � � � �/��+ � � � � �>2;��
�IK,��
��
/� ��2�� 
��&�G� 
 K � O �&� 5 � +NO � ��2 ��2�� +/��� � 5A� � 1��/� �n� � � 	 ��2�� � � 1 � ��
0� �n� 5A� � 1 ��� �h� �>= 	�� � ���MK I4��2��
� � 1 � ��
0� �n� 5A� � 1 ��� �n� O � � � 	�
���
���1�� �LK ��2���5A� � 1 ��� �h� +/� � E��.5 � +@� � ��+ K � � �/��+ � � � � _���� � 56�/� � I;��2���
/�
�&+/�>� �6� 	��N@G1�� � � � � 1 � � \�������� T � � � , \�+/��
/� � �]� � 1 � ��
0� �n� 5A� � 1��/� �n� 
H5 � + �/2�� B4� � 	 � \Y��+����/� �n� 
�I
��2��.�&O�
 ��� ����� � � � ����5A� � 1 ��� �n� I���2��>
 � �4�&+0�N+ �D� ��I&��2��>
/� � �.� � 	G1 � 
0� � � 5A� � 1���� �n� 
@� � 	 �/2�� \ � ,]��+
5A� � 1��/� �n� 
(,.���/2 � ������+/� � ��
5\ �n� � � ��
�� B � � a, b, c, d ∈ R

,.�L��2
a ≤ b

� � 	 c ≤ d
���>2�� � ,��

	���B � �

[a, b] + [c, d] = [a + c, b + d],

[a, b] − [c, d] = [a − d, b − c],

[a, b] · [c, d] = [min{ac, ad, bc, bd}, max{ac, ad, bc, bd}],

1/[a, b] = [1/b, 1/a]
5 � + a > 0 � + b < 0,

[a, b]/[c, d] = [a, b] · (1/[c, d])
5 � + c > 0 � + d < 0,

|[a, b]| =

{
[0, max{|a|, |b|}]

��5
0 ∈ [a, b]

[min{|a|, |b|}, max{|a|, |b|}] � �/2���+-,.��
0� .
√

[a, b] = [
√

a,
√

b]
5 � + a ≥ 0.
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9j� + ��2��]
/� � ��5A� � 1 ��� �n�?�n� ��2�� � � ����+ � � � [a, b]
,.����2

a ≤ b
,]�SB4+0
0� 	���B � � ��2�� � � � ����
 â = 2a/π� � 	 b̂ = 2b/π

� �>2�� � ,]� 1�� � 	���B � �
sin[a, b] = [c, d]

,.�L��2

c =

{
−1

��5 ∃n ∈ Z

/��132 ��24�*�

4n + 3 ∈ [â, b̂],

min{sin a, sinb} � �/2���+-,.��
/� ,

d =

{
1

�L5 ∃n ∈ Z

/��132 ��24�*�

4n + 1 ∈ [â, b̂],

max{sin a, sinb} � ��2���+0,.��
0� .
�>2�� 1 � 
/� � � 1 � � OC� 	���B � ��	 �&


cos[a, b] = sin
(

[a, b] +
[π

2
,
π

2

])

.

9j� +���2�� \ � ,]��+(5A� � 1���� �n� 
 x �
,.����2 � ���/��+�� � ��
5\ �n� � � ��,]� � O�
0��+ � � ��2����(5 � + � 	�	 � � � ����
 � 5 n�/2�� K �&+0� � � 1�+0� �&
0� � E 5 � +�� ��� x
� � 	W5 � +�� � � � � � � ����
 � 5 n

��2�� K �&+/� 	���1�+0� �&
0� � E^5 � + x ≤ 0
� � 	

� � 1�+0� �&
0� � E 5 � + x > 0
� ��� � 1��&I4,�� 	��CB � �

[a, b] � =






[a� , b� ]
��5

0 < a � + n � 	�	 ,
[0, max{|a|, |b|} � ]

��5
0 ∈ [a, b]

� � 	 n
� � � � ,

[b � , a� ]
��5

b < 0
� � 	 n

� � � � .
�>2��.5 �&���t� ,.� � E(
0��� \ � � ��
��&� \ � � 
02 � ,.
@�/24���@�L�H�^��)&��
H
0� � 
0��� � 	���B � �>��2��.� � 1 � ��
/� �h� 5A� � 1 ��� �h� 

5 � +��/2�� \ � ,���+N5A� � 1 ��� �n� 
�� � ��2���
�,�� K +/����2���+.��24� � ��
5\�+/��
/
0� � E^�/2���� �&
�
/��1�1���
/
0� � � � � � �/� \ � �L7
1������ �n� 
�� T � , � � �N� � 1 � � \����/� �/2�� 
 � �4�&+/� � 5 �/2�� � � ����+ � � � [−1, 2]

��=85 ,]� ��
/� �/2�� � � 1 � ��
0� �n�
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
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B �
8 %�� / % � � ) $ 50� 8 1 ��!$� ��5&!$# �-#0��� χ

A �B 6≡ 0
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$ 50� 8 1 ��!$� �Q),5 !$# % � �Q%�1 /;��+-+ : �-/ � 13% ��+ �&),�-/&� � #6��!$#�� � / ),�L� ���-/67�5 + ��1 �&),�-/&��)&��%��-� #&%�1 )&�=� #&%�< !
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� ��� O��3��� � ��2�� � � +/��� �c� 5]�/2�� B4+/
-� � ���&	�+/��1&� =85 ��2���
/� �~� +/��� � 
\��+/� � \�\ � 
0����� 	���+/��1��/��	 I �/2�� �
λ � � ��
-��OY� \ � 
/�L��� � �&�
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A �B 6≡ 0

� � � �-#&%�13% � � � 13% ��+ �&),�-/&� p � ��/ 8
λ � ∈ R ��5&!$# �-#0��� p � � A � p � = p � � B � p � = 0

��/ 8
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7 ������+0��1���
@��
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],�� ��� ��
���2��\1 ��� ��� � 
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u
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= (Ru)
�

= λ
� � � 	 2�� � 1���I |λ| = 1
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(λ) = −λ

�
+ . . . + 1

�	Q�O � � � ��
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R
(0) = 1

� � 	 lim � � � χ
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(λ) = −∞
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� � 	 ϕ
���>2���+0��5 � +0�&IK,�� 	�� � � ��� ��2���
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u
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a ′ ,���	�� �~� �/�N�/2��]\ � � � �@��2�������
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� � 	 a ′ � ��� �n� �G1���+01�� � �&+.1 �n� � ,.2 � 
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.E�� � � � O K �/2�� � ��1 � � +
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���>2�� � ��1�� � +/
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� � 	 w
�&+/� 	��CB � ��	 �&


v = u × a
� � 	 w = u × v

� T � � O�
/��+ � �G�/24���
a ′ = a + (1 − cos ϕ)w + sin ϕv

� T �\,.+/�L������2���
.� � �/2��\5 � +/�
a ′ = a + (1 − cos ϕ)

(

u × (u × a)
)

+ sin ϕ(u × a)

=
(

E + (1 − cos ϕ)(uu � − E) + sin ϕu×)a.

M�� � 1�� a
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N132 � 
/� � �&+0O����/+��&+0� �MK I$,�� 1 �n� 1 � ��	��\��24���

R � � � = cos ϕE + (1 − cos ϕ)uu � + sin ϕu×.
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r
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X � , I4,�� � � �/+ � 	���1��\�/2�� � �4�*����+ � � �h� 
�� � 	[
02 � , 2 � , �/2�� K 1�� � OC� ��
/��	W� � 	���
/1�+0��OC� + � �3��7
�/� �n� 
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� ����	�� 
 � � 	 ����� ��� � %�� p � , q � ∈ R ��/ 8

p, q ∈ R
� ��/ 8 �"%�� p = [p � , p � ] � ��/ 8

q = [q � , q� ] � �
� %*! ��+-+ � #&%*) �&%�1D������),/ 8 %�� / % 8 ),/ R� � :

p · q =
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p � q � − p � q
p � q + q � p + p × q

]
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�-#&%*!$),/ � 5�74���P%*)&� q
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∣
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• F@�&132 1 � � \ �n� � � � � 5>��2��^� � ����E�+�� � 	 � � � ���"��O � ��
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 V(x) = [V � (x), V � (x), V � (x)] � ,.���/2 V � (x) =

�� x
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5 � + j 6= i
�
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x
�
� + x

�
�
5 � +

i 6= j � + �&
 −x � x �
5 � + i 6= j

� = � ��2�� 5 � +0����+�1 �&
0� ,�� 1 � � 132 �6� 
0� �/2�� � ��1�� � + B�� � 	 �&

V(x) = [V � (x), V � (x), V � (x)] � ,.����2

V � (x) = �� x � �
5 � + k = i, j

� � 	 V � ≡ 0
5 � + ��2��

+/���^�&� � � � E � � �/+ K �@= � ��2�� � ���0����+ 1 �&
0��,�� ��� K 132 �6� 
0� V � (x) = − �� x
�
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05A��+/+0��	 � � � � \4�*��2 � � �/��E�+/� � 
 ��
0� � E
X +0��� � � 
>��2�� � +0��� �

��� ��� � ��� ��� � � � � � � � 	 	 � 
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∫∫

B

(

∂T

∂u
−

∂S

∂v

)

dudv =

∫

� B
Sdu + Tdv.
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O K � , ��� � � ���&+ � � 	U� , � 1���+/1�� � �&+ ��	�E���
�� �>2�� +/��E&2;�-7 24� � 	U�����&E���
02 � ,.
��/2�� \4�&+/�&�G������+>+�� � E��
U � ,.2���132^1 �n� 
0��
-��
 � 5 � , � +0��1���� � E�� � �&+��&+/���&
�� �>2���O � � � 	4�&+0����
 � 5 �/2���
0�\�&+/���&
�1 � +/+0��
 \ �n� 	 � �
�/2�� � � � � ��+N��	�E���
 � 5 F � I \�����1���
 � 5H�/2�� 1���+/1�� � �&+���	�E&��
 � 5 F � � � 	 \�����1���
 � 5H��2�� O � � � 	4�&+ K�� 5
�/2�� \4�&+/�&��� ����+>
-\4�&1�� � 5 �/2�� 1 K � � � 	���+��
= �0� +/	���+ � � 2�� � � � � � �&
0����+ �~� ������� �n� ,.2�� � ,]� ��\�\ �LK X +/��� � � 
 ��2�� � +0��� � � ��2��U
0��+05 ��1��
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 � � � � �PFVE � ,�� 	��CB � � f � (u, v) = V(r � (u, v)) � n � (u, v)
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∑
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∫

E ��	
S � du + T � dv,

,.2���+/�
W � = [S � , T � ] � ��
\132 � 
/� � � � 
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[u, v] � O K p � � (t)
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∫

T ��	
W �� ṗ � � dt.
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∫

T ��	
W �� ṗ � � dt.
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C �+��>m*.&��!�B*%-14/�;&#&���0:��>�-1S)��-/�����%${����-10F>���S)>���0:�����B*���-/�%�
-1����412�&�-1��cV���)�f����,.S�2)��*5��-1���#�%$¼�����x*� )�;0
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d(p)
*%0

d(p) = max{ max
F∈ �

max�
∈F

|p − x|, max
E∈ 	

max�
∈E

|p − x|, max�
∈ 


|p − x| }.

DF�)-/0j0:2�c�c��;0:��0]�����V$_�%4/4/�IN?-1��c@S)>��"����&)2�>��5C;�+��>'��*%�B�R$n*%��� F ∈ F
���%,@S�2����3*54/4¼4/�"�L*%4¼,@*� �-/,@*

�5$V���)��$_2��)�;��-1���
|p − x|

$_��>
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x ∈ V
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d(p)
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� (d)
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e � ��
 (d)
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e ���
� (d) = max{ max
F∈  max�

∈F
d
�
x, max

E∈ 	
max�
∈E
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�
x, max�
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d
�
x },

e � ��
 (d) = min{ min
F∈  min�

∈F
d
�
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∈E
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�
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d
�
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x(t)
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p
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x(t)
7�(J0���4P=�-1��c

d

dt
(p − x(t))

»
= 0.

>v�x���%��-/�;�j���+*5�F����-/0F��*%��7Z�fN?>�-P��������*%0
d

dt

f(t)

g(t) » =
ḟ(t)g(t) − 2f(t)ġ(t)

g(t) G = 0,

N?����>:�
f(t)

*%��&
g(t)
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4f * ·g » −2f * ·2g » = 0
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x(s, t)
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x(s, t)���z�+*L=��O*H��-/�;�x$_�%>�,­N\�x>��!N?>�-1���f�����x-/,.S�41-/��-P�k$_��>�,��5$������U¹~Y��92+*%&�>:-/�f-/�#�����j$_��4/41�IN?-/��cVN[*L(�C

��("SZ�;>�7T��4/-1�f�;("4/-1��&���>=2 x
» º

a » −
x
»»

b » = 1,

S+*%>�*57Z��41-/�]�;("4/-1��&���>=2 x
»»

b » − x º = 0,

��(�ST��>:7Z�%4/-/�fS�*%>�*%7T��41��-/&52 x
» º

a » −
x
»»

b » − x G = 0.

> -1���#����-/0mN\�xc��;�?���)�x$_�%4/4/�IN?-1��c3S+*%>�*%,.�;���;>�- :L*5��-/����0;C

x(s, t) =






[

±a
º /����º�	 � � , b

» �º
	 � � , s
]

�
! �9("ST��>:7Z��41-/�f�!(�41-/��&)��> # ,

[

t
»
, bt, s

]

� ! S+*%>�*57Z��41-/�]�;("4/-1��&���> # ,
[a(s + t), b(s − t), 4st]

� ! �9("ST��>:7Z��41-/�fS+*5>�*%7T��4/�%-/& # .
! �)C ��#

���K��>�&��;>3�����+�)&������#,@*� �-/,@*%4k&�-/0A�B*%���;�#7Z�!��N[�;����*RSZ�%-/���H��� C *%��&
p
N\�J,X*� )-1,@- :��z�����

$_2����;��-/���
(x(s, t) − p)

» 2��)&���>m�����f�����)0:��>�*%-/���
x(s, t)

�
Bx(s, t) + 2x(s, t)

�
b + b � = 0

CgDF��-/0
�L*%�G7T�<&��%���<2�0:-/��cW�����<¹¼*%c%>�*%��c%�@$_��>:,X*%41-/0:, ! 0:����� �[��> ��
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λ
*%��&�&����+���x�����f$_2����!��-1���

L(s, t, λ) =
(

x(s, t) − p
) »

+ λ
(

x(s, t)
�
Bx(s, t) + 2x(s, t)

�
b + b �

)

.
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∂L

∂s
(s, t, λ) =

∂L

∂t
(s, t, λ) =

∂L

∂λ
(s, t, λ) = 0
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L � (s, t, λ) = L � (s, t, λ) = L � (s, t, λ) = 0.

>E�H��7�0:��>A=��z���+*5�
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λ
*%��&

L �
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λ
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f(s, t) =
(

x(s, t) − p
)

� (
(

x � (t) × x � (s, t)
)

×
(

Bx(s, t) + b
)

)

= 0.
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τ(x) = w =





bx º /ρc
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=




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 = R
�
(p − c) =




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n = A
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det(T
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det(T
�
AT) = det





1 p
�
Aq 0

p
�
Aq 1 0

0 0 n
�
An




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�
An ·
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1 − (p
�
Aq)

» )
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Ã = A + ww

� *%��&l�����O=����!����>:0
p̃ = p − p

�
w · w *%��&

q̃ = q − q
�
w · w `��������

Ã
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Ãp̃ = q̃
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p̃
�
Ãq̃ ≤ 1
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�
Aq
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�
Aq| = 1
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p = ±q
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p
*%��&

q
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p
*%��&

q
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x(s, t) = p + s(q − p) + t(q + p)
C.Q'0

p
*%�)&

q
*%>:�z4/-/�)�L*%>:41(6-/��&��;SZ�;��&��;�9��`������H=����!����>:0

q − p
*5��&

q + p
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x(s, t)
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(σ + p
�
Aq)t

»
+ (σ + p

�
Aq)t + s(s − 1)(σ − p

�
Aq) = 0.
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D(s) = (σ+p
�
Aq)

»
+4s(s−1)

(

(p
�
Aq)

»
−

1
) Ce}�-1�����

(p
�
Aq)

»
− 1 < 0

N[�U�+*L=��
D(s) > 0
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0 ≤ s ≤ 1

CgDF�92�0;`+$_��>?*%4/4T=5*%4/2��;0?�%$
s
-/�

�����x-/�����;>:=5*%4
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t(s) = −
1

2
+

σ
√

D(s)

2(σ + p
�
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(1 + p

�
Aq) = σ
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t(0) = t(1) = 0

*%��&M�������;�
x(0, t(0)) = p

*%��&
x(1, t(1)) = q
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p
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l(s) = x(s, t(s))
$_��>

s ∈ [0, 1]
C
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q
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�%$ F �B*%��c%������-/*%4/4P(�C
?^��Nx`mN\���+*L=��6��� �+�)&����)�6-1�9����>:0����!��-1��� ST��-/���

l(s � )
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s � ∈ (0, 1]

*5��&
t � ≥ −

º» Cj¹��!� E 7T�H*%�W�;&�c��3�5$ F ���+*5�]-/0]��,37T��&�&)��&l���l*.�����)-/� C N?-1���RS+*%>�*%,.�;���;>�- :L*5��-/���
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p + su + tv + rnP = c(λ),

N?����>:�
u = q − p

`
v = q + p
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nP = u × v

-10?�����x����>:,X*%4��5$ P C >E�U*%>��U-/�����;>��;0:���;&W-1�0���412)��-1����0��%$�����-10{0A("0:���;,±N?-1���
r = 0

C{DF�92�0�N\�[��*I=%�e���]0:��41=%�e�����e���92+*5��-/���
n
�
P(c(λ)−p) = 0

C
�[����*%2�0��#�5$^�����#S+*%>�*%,.�;���;>�- :L*5��-/����0 ! �"C 
 #O*%��&G���)�<0�2�7)0:��-P��2)��-/���)0 ! ��C�9 #V*5��& ! ��C%� #U����-/0V-/03*�"2�*%&�>�*���-/�f�;�92+*5��-1����-/�

λ
C �+��>F�L*5�B�W0��%4/2)��-/���#�%${���)-/0?���92+*5��-/���#N\�O�%7)�B*%-1��*zST��-1�9�

x = c(λ)
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Ax + a � = 0
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x(s, t) = p + sw + tr
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Ar)
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C N[�x�B���"��0��
x(t) = cC + ρ

1 − t
»

1 + t » u + ρ
2t

1 + t » v.

> -1��������-10<&�������-1��-/��� N\�R�+*L=%�
lim ��� ± � x(t) = a
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t � ∈ R0�2��B�H����*5�
x(t � )
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x(t) = a + tu
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(x
» º + x

»» + x
»G + R

»
− r

»
)
»
− 4R

»
(x
» º + x
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u
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v
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u × v = n
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S�*%>�*%,.�;����>:-;:��H�����zS�4 *%�)�.�;�����B*%-1��-/�)c C -1�������H$_��>�,
x(s, t) = c + su + tv
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-1�����z���92+*5��-/��� ! �)C �$� #[4/��*%&�0m���
(s
»
+ t

»
+ 2sc

�
u + 2tc

�
v + R

»
− r

»
)
»
− 4R

» (
(c º + su º + tv º ) » (c » + su » + tv » ) » ) = 0.

���@S+*%>�*%,@�!���;>�0k�%$������^S�4 *%�)�?�����^��-/>:��41� C -10kc�-1=%���.79( s
»
+ t
»
−ρ

»
= 0

C DF�92�0�`"N[�^�L*5�X>��;S�4 *5���
*54/4k���;��2�>:>��;�����;0H�%$

s
»

+ t
» -/�E�����<*57Z�I=��X���92+*5��-/���E79(

ρ
» *%�)&v�����;�K>��;S�4 *%�;�X*54/4k>��;,X*%-1��-/�)c�"���;2�>�>:�����;��0]�%$

t
» 79(

ρ
»
− s

» CgDF��-/0?>��;0�2�4P��0?-/��*%�J�;�"2�*5��-1���6�5$������f$_��>�,
α* s » + α G st + α » s + α º t + α � = 0

N?-P���6������0A�B*%���]=%*54/2��;0
α � , . . . , α * C^D{��c��!�����;>]N?-P���6�����U������&)-1��-1��� s

»
+ t

»
− ρ

»
= 0

����-10]-10'*
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7T�;��N\���;� C *%��& T CgDF��-10?0:("0:����, �L*%�J7T�x>���&)2����;&6���

(α
»G + α

»* )s* + 2(α * α » + α G α º )s G + (2α � α* − α
»G ρ » + α

» º + α
»» )s »

+ 2(α � α » − α G α º ρ » )s − ρ
»
α
» º = 0

*%��&

t = −
α* s » + α » s + α �

α G s + α º .
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ρ
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�����;�v-1��0O-1,@S)4/-/�;-1�]$_��>�, ��*%�v7T�.N?>:-1�:�����v*%0
(x − c)
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− ρ

»
= 0
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x
» ("-/��41&�0

x
»

= ρ
»
+ 2x

�
c − c

» Cg��$¼N\�U-1��0��;>:�m����-/0[-/����� ! �)C �$� #[*%��&#&)���+��� L = ρ
»
− c

»
+ R

»
− r
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x
�
Ax + 2x

�
a + a � = 0
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�

−
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»
, R
»
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)

a = 2Lc
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a � = L
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.
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p ′» =
2t

1 − t » ⇔ t =






	 º ±√ º /�� ′� �
� ′�

-1$
p ′» 6= 0,

0
�%�����;>:N?-10��%C

�\(@�����'����-/>:&<����,.ST����������0[N[�'�+*L=��
λ � = (1 − t

» � )p ′G C Q]c�*%-1�~`"N\�f�B���;�BiXN?���;������> λ � = λ(t � )
C

A HIZ STV��7�6H1Z X�P�_:V���� L J V�ZY[\VT_�J8K�BEL
>v�w�+*L=��E*%41>��L*5&)(¸0:���������+*5�#�����w��2�>A=�� Y�0�2)>:$n*%�;�!Y�-1������>:0��;�;��-1����S�>:��7�41��, $_�%>J*M�;����-/��*%�)&�*
�"2�*%&�>�-1�<4/��*%&�0V���l*RST��41("����,.- *54g���92+*5��-/���K�%$^&��;c�>��;�<$_��2�>;C�}��l4/�!� C 7T�#*,�j� �y*%��&�4/�!� Q7Z�w*K�92+*%&�>:-/�5Cy��� �%>�&��;>J��������,.S�2)���R�����wST��-/����0#�5$O-1������>:0��;�;��-1��� 7Z�!��N[�;��� C *%��& Q N\�
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-1�H�����FN\��>�0A�\��*%0��5CgDF���F$_��4/41�IN?-/��cj�  )*%,@S)4/�F0��)��N?0k����*5�k����-10g&���c�>:���

��*%�6*%�;��2+*%4/4P(X7T�x>���*%�B����&�C
� � )4'�����&�+.- � - � 
!p C � 
^q >)q � p � 
Fp�0�
Fsa�+p�
���o$
Bu!pts � �Ju����73�
�� 
!p < 
 
!�@p 0�
E0"� >�
�� � �	� sru >)q �:q � �	��� sn�
>)q �:q%� 
!p�
�� s��	
�� ���

x(t, λ) = [t, λ, tλ, 1]
� q%�T��p�0�
 
 �
� s >+o � sn�M�T
��k�1
�� ���Gp�0�
 0 � � � �T
!�1
 � ��o

�.q%p�� s 1

A � =











1 1 0 0

1 2 0 0

0 0 1 0

0 0 0 −1











.

� �.sa�)o$
�� pnsa�	�
x(t, λ)

sa�+p � p�0�
 
 �)q�� �:q%ptsru 
 � �!���T
��k�+sa�	�zp�0�
�
 �
� s >+o � sn� < 
 �k�T�zp 0)q%pkp�0�
fsa�+p�
�� #
o$
Bu!pns � �vu��	��3�
Vu�q%� � 
E>)q �:q%� 
!p+
�� s��	
������

c(t) = [t, λ(t), tλ(t), 1]
� < sap�0

λ(t) =
−t ±

√
2 − t

*
2 + t » .

� 
!p C � 
kp�0�
 >)q � p � 
kp�0�
Fu��	��3�
ep�0)q%pTs/o >)q ��q%� 
!p�
�� s��	
��^s 
 < 
kprq��]
ep�0�
 > � �9ogo!s"�%�3sa�Hp�0"s/oC
�
 �)q%pts � � �
� �=< � 
!p Q � 
Vp 0�
Uo >40�
�� 
H�T
��k�1
�� ���<p�0�
 0 � � � �T
!�1
 � �9oO�.q%p��!s 1

B � =
&)- *%c

(1, 1, 1, −r
»
)
�0+ 


< 
Vsa�)o$
�� p
c(t)

sa�+p � p�0�
 
 ��q�� �:q%pnsru 
 � � ���T
��k�+sa�	� Q q%�T�6u � 
�q �Up 0�
H�T
!� � �Hsa�Tq%p � ��o%�\p�0�
!� < 

� ��prq%sa�lp�0�
Hu � �T�%sapts � �

(t
»
− r

»
)(t
»
+ 2) + (t

»
+ 1)(t

»
− t

*
+ 2) = 2t(t

»
+ 1)

√

2 − t
*
.

+ � � �:�T
��#p �R� ��prq%sa� q > �	� ��� � �Hsnq �E< 
<o 
 �)q � 
�p�0"s/o�
�
 �)q%pts � � � /.0�
��T
 � � 
 
 � 
<p 0�
 � 
Bo�� � ptsa�	�
> �	� ��� � �Hsnq � s/o
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DF���k-/�����;>�0:���;��-/���xST��-/����0~7Z�!��N[�;��� C *%��& Q *%>:�k*F0�2�7�0:�;�{�%$"�����g-1������>:0��;�;��-1���xSZ�%-/����0�7T�;��N\���;�
����>��;�X�92+*%&)>�-/�;0�`��+*%,.��41(R7Z�!��N[�;��� Q *%��&������z��N\�R�92+*%&�>:-/��0U&����+��-/�)c C C#�[2)�U�����;0��@SZ��-1����0*5>��X�����<���%,@,.���v>:���5��0V�5$^�����X����>��;�<�92+*%&�>�*5��-1�@$_��>:,@0O&����+�)-/��cR������0:�#�"2�*%&�>�-1��0;Cw�[� :;��2)� ½ 0�������%>���,����;4/4/0�2�0|���+*5� ������>:�?*%>��m�%��41(U��-1c����g0�2)�B�.�;��,.,@���V>��"�%��0;C }��j�����F�92���0A��-1���H-/0|N?�)�;���)��>
����-/0fS)>���7�41��,��L*%�w7T�.>:��&�2)����&w����*#ST��41("����,.- *54{�;�92+*5��-1���w�%$\&���c�>:���z��-1c����LCO��� � � !�&0���\#g-P�
-10@0:���IN?� 7�(M,@��*%��0.�%$j,V2�41��-1=5*%>�-/*5���@>��;0�2�4P�B*%����0z����*5�@����-/0z-10.-1��&��;��&��������L*%0:�%C DF���!(�2)0��
*E>���0:2�41�.$_>��%, ��&W*5�2�]�	#?���+*5�<�  �S�>��;0�0��;0<�����6>��;0�2�4P�B*%���@�%$

k
����,.��c��;�����%2�0@ST��4P(��)��,@-/*%4/0H-1�

k
=5*%>:- *%7�41��0U*%0U�����@�"2)�%��-1�����3�%$F��N\�R&��!���;>�,.-/�+*%����0

detN/ detD
`|N?����>:�X���)�X&��;����,.-/�+*5����>

-10<*E$n*5�;���%>@�%$'�����R�92�,.��>�*5���%>X*%�)&
D
-/0<*�0�2�7),X*5��>�-  M�%$

N
C ���¸��>:&���>.���K*%S)S�41(����)-/0z���

����>��;��*%>�7�-P��>�*%>:(MST��41("����,.- *54/0
f º , f » *%��& f G -/�¸���)>����R=5*%>:- *%7)4/��0 x, y

*5��&
z
���)�l������0:-/&��;>�0

�����
f
� *50]ST��41("���%,@-/*%4/0\-/������41(X��N[�.=%*5>�- *57�4/�;0

x
*5��&

y
N?-1���6�;��� <@�;-/�;�9��0'7T��-1��c@ST��4P(��)��,@-/*%4/0

-1�
z
C DF����� ������-/����>:��&�2)����0X*E���!Nb=5*%>�-/*%7�4/�5`\0�*L(

w
`\���v�)��,@�%c�����- :��#���)�

f
� C DF�����~`m�����

>:��0:2�41��*%���
detN/ detD

-/0O*6ST��41("���%,@-/*%4|�%$m&���c�>:���@��-/c%�9�U-1�
z
���)�@>:���%��0O�5$mN?��-/�B�v*%>��z���)�

z
Y��;���%>�&�-1�+*5���;0?�%$|�����O�;��,.,@���J>:���%��0?�%$|�����

f
� Cm��� ��� !.&(���=#¼-1�^-/0?0��)��N?�6���IN����@,X*5i%�f����-10

>:��0:2�41��*%���j�! �S�>:��0:0�-/�%�l&�-1="-/0:-/���"Y�$_>��;�x79(�,.�L*%�)0'�%$k*5S�S�>��%S�>�-/*5���U,X*���>�-  #��>�*%��0A$_��>�,@*5��-1����0;C^� �%>
��*%�B��>��"�%�

z �
�%$?����-10VST��41("���%,@-/*%4g�����<�;��>�>:��0:SZ���)&�-/��c

x
*%��&

y
�;���%>�&�-1�+*5���;0H*%>:�<����,.S�2)����&
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!p�
Bu!pts � �

79(J0:2�7�0A��-1��2)��-1��c
z �
$_�%>

z
-1�������

f
� *%��&6�������60���4P="-/��cz����>:���U���92+*5��-/���)0]�%$|&���c%>����x��N\�<-/�J��N[�

=%*5>�- *57�4/�;0�C#DF��-10V�L*5�G7Z�.&����)�X2�0:-/��cW�����#}9(�4P=��;0:���;>3>��;0�2�4P�B*%���UN?��-/�B�v4/�L*5&�0O���W���92+*���-/�%��0V�%$
&���c�>:���U*5�?,.��0:�F$_�%2�>�C
��� � �e}��:�	#{*.,.�;������&�-/0?S�>:��0:�������;&W���.�! �S�>:��0�0]����-10F,32�41��-1=5*%>:- *5���'>��;0�2�4P�B*%���]&�-/>:���!��41(<*%0?�����

&��;����>�,.-/��*%���k�%$~*f,@*5��>:-P V>�*5������>g���+*%�H�����?�92��%��-/�;�9�e�%$T��N\�O&��!���;>�,.-/�+*%����0�Cg¹��;�k$_��>
i = 1, 2, 3�����x����,.��c��;�����%2�0FSZ�%41("����,.- *%410

f
�
(x, y, z)

7T�Uc%-1=��;�6-1�#�����f$_��>:,
f
�
(x, y, z) = α

�
� x » + α

� º xy + α
� » xz + α

� G y » + α
� * yz + α

�
� z
»
.DF����0:�v*%>:�R�����w-1,@S�41-/�;-1�z$_��>�,.0#�%$U����>:���w���%��-/�;0#-/� �����lS)>���8:�;�;��-P=���S�4 *5���%Cy�e(¸�����w*57Z�I=��

,@�;�9��-/���)��&�S�2�7�41-/��*5��-1���~`g�����;0�����2�>A=��;0<�+*L=��6*��;��,.,@����ST��-/���z-Ph¸������&��!����>:,@-1�+*%���z�%$]�����
,X*5��>�-  

M(f º , f » , f G ) -10A:���>:��CkDF��-/0?,@*5��>:-P X-/0Fc�-P=��;��7�(
















α º � α » � α G � [0, 1, 5] 0 [0, 1, 2]

α ºAº α »;º α G º [0, 3, 5] [0, 3, 4] [0, 1, 4] − [0, 2, 3]

α º_» α »A» α G » [0, 4, 5] − [1, 2, 5] [0, 3, 5] [0, 1, 5]

α º G α » G α G G 0 [1, 3, 4] [0, 3, 4]

α º * α » * α G * [2, 3, 5] [2, 3, 4] + [1, 3, 5] [0, 3, 5]

α º � α » � α G � [2, 4, 5] [2, 3, 5] 0

















,

N?����>:�
[i, j, k]

&)�����%����0?�����.�g4��)�Bi%��>^���"��>:&�-/�+*����

[i, j, k] = det





α º � α » � α G �
α º � α » � α G �
α º � α » � α G �



 .

?]�IN 4/�!�
g
�
(x, y, z) = 0

$_��>
i = 1, 2, 3

7T�U�����O����>��;�3�92+*%&�>:-/�;0]���@7Z�O-/�����;>�0:���;����&~C�>v�UN?>�-P���
�����;0��zSZ�%41("����,.- *%410]-1�R�����3$_�%>�,

h
�
(x, y) = 0

N?-P���
h
�
∈ R[z][x, y]

`~-rC �%CU�����z�;��� <@�;-/�;�9��0x�%$
h
*%>��fST��41("���%,@-/*%4/0\-/�

z
C >E�U-/����>:��&�2)���U*H���;N�=5*%>:- *%7)4/�

w
���z����,.��c����)-;:��j�����xSZ�%41("����,.- *%410

h
� *5��&W��7��B*%-1�

H
� CmDF������`Z���)�O&��!���;>�,.-/�+*%���]�%$

M(H º , H » , H G ) -10'*.SZ�%41("����,.- *%4Z-/� z
N?����0:�

>��"�%��0f*5>��3���)�
z
Y��;���%>�&�-1�+*5���;0j�%$k���)�H-/�����;>�0��;�;��-/���wST��-/����0f7T�!��N[�;���E�����3���)>����z�92+*%&)>�-/�;0�C3DF�)�

&���c�>:���x,@*5��>:-P X�%$
M(H º , H » , H G ) -/0

















0 0 0 2 −∞ 1

0 0 0 2 1 1

1 1 1 3 2 2

0 0 0 −∞ 1 1

1 1 1 3 2 2

2 2 0 4 3 −∞

















.

> -1���@�����j,.�;�����"&#&���0:��>�-17Z�;&#-/����C ��C��UN\�f�L*%�#&��!���;>�,.-/���f*5�#2�S�ST��>m7T��2���&<$_�%>\���)�f&���c�>:���f�%$
M(H º , H » , H G ) 2�0�-1��cH����-10F&���c%>����x,@*5��>:-P ZC >E� �+��&J���+*5�?����-/0F7T��2���&�-/0F-1��&��;��& 8

C
>E�w���IN &���0:��>:-/7T�w��N\��*%41����>���*5��-P=��l,.�;���)��&�0#��� ����& �����w-/�����;>�0:���;��-/��� ST��-/����0#7T�;��N\���;�

����>:���x�92+*%&�>:-/��0;CkDF��� �+>�0A�]�%���x2�0��;0'* !f>��"��7����;>?7+*%0�-10?*%S�S�>:��*%�B�J���z&��;>�-1=%�f�����x&��;c�>��;�O�;-/c����
SZ��4P("����,.- *%4T-/�

z
&�-1>����!��4P(�`�-tC��5CkN?-P�����%2)�?c����)��>�*���-/�)c@*z�92��%��-/�����^�%$�&��!����>:,@-1�+*%����0F���+*5�?�+*%0?���

7Z�j,@*%&��f&)-1="-/0:-/����Yr$_>��;�%C|DF�)�f0����;����&6*%S�S�>:��*%�B�J2�0:��0F�����fS�*%>�*%,.�;����>:-;:L*���-/�%�X�%$¼���)�x¹~Y��92+*%&�>:-/�
-/�l�����.ST�����;-/4g�%$e��N[�6�%$[�����z�92+*%&�>:-/��0U-/�w��>:&���>x���J&��;>�-P=��@*�ST��41("���%,@-/*%4|�%$\&��;c�>��;�@�;-/c����U-/�
�����x��2)>:=��US+*%>�*%,.�;���;>F�%${�������j� �'C
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f
�
(x, y, z) = 0

$_��>
i = 1, 2, 3

7T�O�����V����>��;�V�92+*%&�>�*5��-1�
$_�%>�,.0m���z7Z�x0:��41=%��&~CkDF��-10^0A("0:���;,b�%$����92+*5��-/����0?��*%�67T�fN?>�-P�����;�J-/�#�����f$_��>:,

[M,N] · [x » , xy, y
»
, x, y, 1]

�
= 0

N?-P���
M ∈ R

G × G *%�)& N ∈ R[z]
G × G C?&62�4P��-1S�41("-/�)cx����-/0\���92+*5��-/���.$_>���,y�����'41�;$a�[N?-P���X*V>��;c�2�4 *5>

3×3
Y�,@*5��>:-P fS)>���0:��>A=���0g�����[0:�;�g�%$�0���412)��-1����0�C >E�[i9���IN�$_>���, 4/-1���L*5>�*54/c��;7�>�*?���+*5�|�L*%�B�V,X*5��>�-  

A
��*%�K7T�@��>�*%��0A$_��>�,.��&G-1�����W>:��&�2)����&�>:��N �;�B����41���v$_��>:, 7�(v*W0��;�92������;�J�%$?-/��=��;>:��-/7�41�@>:��N

��>�*%�)0:$_��>:,X*5��-/���)0�`Z*%��&R����*5�j���)-/0'$_��>:, -/0j2��)-/�92���4P(W&)�;���;>�,.-/���;&R7�(
A
C0�k*%�B�w-/��=%��>:��-/7�41�V>:��N

��>�*%�)0:$_��>:,X*5��-/���.�L*5�<7Z�]�! �S�>:��0�0:��&6*%0m*O,32�41��-/S�41-/��*5��-1���V$_>��%,d�����'41�;$a�eN?-1���#*O>:��c�2�4/*%>e,X*5��>�-  �C
DF�92�0;`����)��>��O�! �-/0A��0'*@>��;c�2�4/*%>?,X*5��>�-  

R ∈ R
G × G 0:2��B�R���+*�� RM

-/0^-/�W>:��&�2)����&l>:�IN±���B���;4/���
$_�%>�,�C]DF���;>��!$_��>��VN\�3,@*L(W*50�0�2),@�U���+*5�

M
-/0]*%4/>:�L*%&�(6-1�6���+*5�'$_�%>�,�C^>E�30:���V���+*5�

M
,32)0:�

��*I=%�O�%���x�%$������f$_��4/41�IN?-/��c3�;-/c����F$_��>:,@0;C
>�*5��i

M = 3 : E

>�*5��i
M = 2 :





1 0 α

0 1 β

0 0 0



 ,





1 α 0

0 0 1

0 0 0



 ,





0 1 0

0 0 1

0 0 0





>�*5��i
M = 1 :


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a » (t) = R(t)(ã» − c̃) + c̃ + vt.

���G�����<��*%0��<�5$
ω = 0

�;�"2�*5��-1��� ! ��C ��� #U-/0U4/-1���L*5>O-1� t
CW��$

ω 6= 0
` �������EN[�#,32)41��-1S�41(6�����

0:���;����&�*%��&R����-/>:&R>��IN ���W���)�H4/�;$a�]�+*%�)&�0:-/&��O�%$ ! �)C����$#?7�( 1 + (wt)
» *%�)&l��7)�B*5-/�R*<&)��c�>:���$_�%2�>XST��41("���%,@-/*%4m-/�M�����6�L*%0:�R�%$

v = 0
*5��& *E&)��c�>:��� ��=%�RST��41("����,.- *54m-/�M�����6�L*%0:�R�%$x*

0:2�ST��>�ST��0:-1��-1���~C
A PO[=V���� ?]��-P�����;> C º ����> C » -/0U*60A��>�*5-/c����O4/-/�)�%C >E�<*%0:0�2�,.�z���+*5�O7T�%���E��2�>A=���03*%>��@c�-1=%���7�(w���)�X-/������>�0:���!��-/�%�v7T�;��N\������*��92+*%&�>:-/�@*%��&G*�S�4 *5���%CJ¹��;�U���)�@�92+*%&)>�-/� Q º ��������*%-/��-1��c C º7T�zc�-1=%���w7�(l�����z,@*5��>:-P 

A �
*5��&w4/�;�f�����zS�4 *5���H��������*%-/��-1��c<����*5�x��2�>A=��.�+*L=��H���)�.�;�92+*5��-1���

m
�
x = m �

C6> -1��� Q » ,B � , n
*%��&

n �
N[�'&������5���'�����j>��;0�ST���!��-1=%�j�92+*%����-P��-1��0\$_�%> C » C|���#��>�&��;>���@i5���;S6���)�U�;�92+*5��-1����0F��*%0�-1��>FN[�U*%&)&�-1��-/���+*54/41(@*%0:0�2�,.�f�����f$_��414/�IN?-/�)c�C

• m = [0, 0, 1]
� *%��&

m � = 0
`+-rC �%C C º 41-/��0[-/�#����� (x º , x » ) Y�S�4/*%���5C



� � � �����	�
� s/o!s � ����
!p�
Bu!pts � �

• A
�+*%0?&�- *5c����+*%4T$_��>�,�`

a º¤º 6= 0
*5��&

a º = 0
C

DF��-/0]�L*%�w*%4PNm*L("0j7T�H*%�B��-1�;=%��&w7�(l*%S�S)41("-/��cX*%�l*%S)S�>���S)>�- *����O��>�*%�)0�4 *���-/�%�W*%�)&w*X>��%��*5��-1���~C]��$
�����;>��H-/0j*%�l-/�����;>�0:���;��-/���wST��-/���

x
7T�;��N\���;� C º *5��& C » `��������l����-/0jST��-1�9�j-/0f*<0:��4/2)��-/���W�%$k�����$_��4/41��N?-1��c30A(�0A���;,02

x
�
Ax + 2x

�
a + a � = 0,

x
�
Bx + 2x

�
b + b � = 0,

x
�
m − m � = 0,

x
�
n − n � = 0.

! �)C��:� #

Q'0 C º 41-/��0'-/�R���)� (x º , x » ) Y�S�4 *%�)�%`������3����-1>�&l�%$e���)��0��z�;�"2�*5��-1����0f0�-1,@S)4/- ����0]��� x G = 0
C3}�2�7�Y

0:��-P��2)��-/��cH����-/0^-/�����z���)�V>��;,X*5-/��-1��cz���92+*5��-/����0]*%��&62�0�-1��c@�����O*%7Z�I=%�3*%0:0�2�,.S)��-1����0?N[�O��7)��*%-/�
����>:���x���92+*5��-/���)0^-1�<��N[�.=5*%>�-/*%7�4/�;0�`��+*%,.��41(

f º (x º , x » ) = a º¤º x » º + a »¤» x »» + 2a » x » + a � = 0,

f » (x º , x » ) = b º¤º x » º + b »A» x »» + 2b ºa» x º x » + 2b º x º + 2b » x » + b � = 0,

f G (x º , x » ) = n º x º + n » x » − n � = 0.

>v�]��4/-1,@-1�+*5���m�����^=%*5>�- *57�4/�
x » *%��&<>:��&�2��;�'���)-/0e0:("0:����,­���O��N\�H���92+*5��-/���)0\-1�X�����^=5*%>�-/*%7�4/�?7�(

0��;�:��-1��c

g º (x º ) =
>��;0 � � (f º , f G )(x º ) *5��&

g » (x º ) =
>��;0 � � (f » , f G )(x º ).

�[�%���G������0:�#SZ�%41("����,.- *%410x�+*L=��#&��;c�>��;�<��N[�l-1�
x º CG>E�#��41-/,.-/�+*5���

x º $_>��%, ����-/0O0:("0:����, 7�(
&����+�)-/��cX�����O$_2)���;��-/���

D(C º , C » ) =
>��;0 � � (g º , g » ) C]DF�)-/0]$_2)���;��-/���R��*%0]�����V=5*%4/2)� :;��>��<N?�)����Y�;=��;>F�����j��N\�z��2�>A=���0?�+*L=%�O*3�;��,.,@���XSZ��-1���LCg���#��>:&���>m���Hc��;�^*3ST��41("���%,@-/*%4 ���92+*5��-/���#-1�<�����

��-/,.�FS+*%>�*%,.�;���;> N[�^>��;S�4 *5���
n �
*%��&z�����^������>�-/�;0\�5$

n
*%�)&

B �
2)0�-/�)cU�����?>���4/*5��-1����0:��-/S�0 ! �)C"�$� #*%��& ! �)C�� � # C �| �S+*%��&�-1��cw������*%41c���7�>�*%-/�@�! �S�>:��0�0:-/���M$_��>3���)�#>���0:2�41��*%���

D(C º , C » ) `eN\�Jc��;�.*0�2�,y�%$
106

���;>�,.0k�L*%�B�@�%$�N?��-1�B�@-10k*US)>��"&�2��;�e�%$�0�-  H��-1,@�m&)��ST����&��;���m�92+*%����-P��-1��0�C �^�;S�4 *%�;-/��c
�����;0��z�92+*%����-P��-/�;0j4/��*%&�0j���6*<�92�c%�.ST��4P(��)��,@-/*%4rCf���l�����H�L*%0:�z�%$

ω 6= 0
-1�]Nm*%0x���5�xSZ��0:0�-17�4/�

���X�;��,.S�2)���U����-10]ST��4P(��)��,@-/*%4~0A(�,V7Z��41-/��*%4/4P(XN?-1���6�����V�;��,@S)2)���;>j*%41c���7�>�*.0A("0:���;, &W*5S�4/� �
©
���

*X,X*5�B��-/���UN?-1���
256

&W��>�*%,�Cj���R�����V�L*%0:�
ω = 0

N\�H-/,.,@�;&�- *�����4P(X=%��>�-P$a(6���+*5�j�����V���%�B*%4
&���c�>:���j�5$

f º *%��& f » -1�X�����]=%*5>�- *57�4/�;0 x º , x » *%�)& t
-10[��N\�z*%��&X�����'���5�B*%4T&���c%>����f�5$

f G -10\���)��0��=%*5>�- *57�4/�;0[-/0[�����%CkDF�92�0;`
g º *%��& g » &����+�)�U�;����-1�f0����!��-1����0F-/�<����� (x º , t) Y�S�4/*%���]*%��&#���)��>��!$_��>�������z&��;c�>��;�.�5$\������-1>j>��;0�2�4P�B*%���U�+*%0x&��;c�>��;�z$_�%2�>f-/�

t
CH��$m*#>:�%�B*5��-/���l-10f-/��=��%41=��;&~`�N[�z>:��S�4/*%���

�����j��-/,.�'&��;SZ�;��&������^�92+*%����-P��-1��0m-1�<�����
4× 4

}"("41=%��0:����>?,@*5��>:-P @�%$
g º *%��& g » >�*5���)��>[���+*%�J-/������z>��;0�2�4P�B*%����CXDF��-10U-10f�����.0�*%,.�.*%0x>��;S�4 *%�;-/��c#������, -1�w�����.SZ��4P("����,.- *%410

g º *%��& g » C@DF���SZ��4P("����,.- *%4
f º -/0|*%41N[*L(�0g�;����0A�B*%���g-1� t

C����3�����[�L*%0:�m�%$
v = 0

���)�m&���c%>����;0g�%$+���)�mSZ�%41("����,.- *%410
f » *5��& f G -/� t

*%>��.$_��2�>O*%��&v��N\��` >:��0�ST���!��-P=���4P(�C�DF���X,@*5��>�-/�;��0U�%$m�����@&)��c�>:����0V-/�
t
�5$m�����

������>:-/��0?�%$
Syl� � (f º , f G ) *%��& Syl� � (f » , f G ) *%>:�





0 0 0

2 2 −∞
−∞ 2 2





*%��&




4 4 4

2 2 −∞
−∞ 2 2



 ,



��� � �f�5�Tq%�Hsru ���	�
� s/o!s � � /I
Bo!p � � �

>:��0:SZ�;�;��-P=��;41(�CeDF�92�0�`+�����x&���c�>:���;0]�%$
g º *%��& g » -1� t

*%>��j$_��2)>]*5��&J��-/c%�9��`+>��;0�ST���;��-1=%��41(%C �]0�-1��c
&6*%S�4/� �

©
N\� �+��&J���+*5�

(1 + (wt)
»
)
» -10?*3$n*%�;����>F�%$ ��*%�B�����"�=<.��-1�����^�%$

g » *50?*.ST��41("���%,@-/*%4Z-1�
x º C DF���;>��;$_�%>��%`�N[�]�L*%�<&)-1="-/&��?���)�'4 *50:�e��N[�3>:�IN?0m�%$ Syl� � (g º , g » ) 7�(@����-/0k$n*%�!����>\*%��&<�%7)�B*%-1�*J,@*5��>:-P lST��4P(��)��,@-/*%4

M(t)
�%$[&���c%>����.$_��2�>x-/�

t
C@DF�)�XST�%���;�9��- *%4|����414/-/0:-/���R��-/,.��0x*%>:�z>��"�%��0

�5$m�����.&��!����>:,@-1�+*%���
det(M(t))

C >v�.���%,@S�2����.*%4/4g>:���5��0x2�0�-1��c6�����z�����B�)��-/�92��;03-/����>:��&)2����;&
-1�@�"C%��C	��C.DF���.>��L*50����wN?��(�������0:�@>:���5��0f$_��>�, *JS)>���ST��>U0�2�ST��>:0��!�V�%$\�����.ST�%���;�9��- *%4|����414/-/0:-/���
��-/,.��0j-1�lc����)��>�*54|-/0]���+*5�x0:��,.�3�%$k�����;, ,.-/c����'����41(67T�H�! "���;��&���&w���J*<0:��4/2���-/�%�R�%$��)C��:�X7�(
ST��-1�9��0

x
N?-P���J����,.S�41�! #�;���%>�&�-1�+*5���;0�C

���������f�L*50��x�%$|*z0:2�ST��>�ST��0:-1��-1���#�%$|*H>��%��*5��-1���J*%��&�*3��>�*%��0�4/*5��-1���X�����x&���c�>:���;0]�%$¼�����xSZ��4P(�Y
�)��,@-/*%4/0

f » *%��& f G -/� t
*5>��f0�-  �*%��&#����>��;�%` >��;0�ST���;��-1=%��41(%CkDF���O&)��c�>:���x,X*���>�-1���;0?*%>��





0 0 0

2 3 −∞
−∞ 2 3





*5��&




4 5 6

2 3 −∞
−∞ 2 3



 .

�^�����;�%`������[&��;c�>��;��0 �5$
g º *5��& g » -/� t

*5>��[0:-P V*%��&U���;�~`�>��;0�ST���!��-1=%��4P(�C Q]c�*%-/�xN\� �+��&V���+*5�|�L*%�B�
�;��� <.��-/�;���f�%$

g » *%0j*@SZ��4P("����,.- *%4~-1� x º -/0]&�-1="-/0:-/7�41�x79( (1 + (wt)
»
)
» C]DF�"2)0�`�N\�3�L*5�l*%c�*%-1�&)-1="-/&��f�����O4/*%0:�F��N\�X>:�IN?0]�%$

Syl � � (g º , g » ) 7�(�����-/0F$n*%�!����>?*5��&W��7��B*%-1�6*z,@*5��>:-P XSZ��4P("����,.- *%4
M(t)

�%$|&���c�>:���U0�-  �CkQ]c�*%-/��`)N[�U2�0:�U�����f���;�B����-/�92��;0'&��;0��;>�-/7T��&�-/�0��C ��C	�H��� �+��&6�����x>��"�%��0F�5$
det(M(t))

`�N?�)-/�B�J$_��>�, *.0:2�SZ�;>�0:�;�]�%$������xSZ�5��������- *%4~�;��4/41-/0:-/���.��-/,.��0;C
> -1���E���)�<����41SG�%$�&6*%S�4/� �

©
N\� �+�)&G���+*5�O�����@>��;0�2�4P�B*%���3�5$

g º *5��& g » �L*%�K7T�@N?>:-1�������G-1������<$_��>:,
D(C º , C » ) = n

* » · h
CvDF��-10H,@��*%��0V���+*5�H-1�G�����#��*%0��<���+*5�

n » -103���%��0:��*%����41(,:��;>��
����-/0\>��;0�2�4P�B*%���m-10[�;����0:��*%����4P( :;��>:��`�*%0eN[�;4/4tC ���X���)-/0[��*%0��]N[�j>:�;=%��>�0:�j�����]��>�&)��>m�%$~��4/-1,@-1�+*5��-/��c
�����#=5*%>�-/*%7�4/�;0H-/�K���)�6*57Z�I=���*%S)S�>���*5�B�~CR>v� �+>:0:�.��41-/,.-/�+*5���

x º $_>:��, f º , f » *%��& f G C�DF�����N\�H��41-/,.-/�+*����
x » $_>���,b���)�3>��;0�2�4P��-/�)cXST��41("����,.- *54/0

g̃ º *%��& g̃ » Cj¹��;�'2�0j&��;���%���V�����V>���0:2�41��*%����5$]������0:����N\�wSZ��4P("����,.- *%410ONxC >�C �LC
x » 7�( D̃(C º , C » ) CGQ]c�*%-1�~` N?-1���������J����41S��%$;&6*%S�4/� �© N\��%7�0��;>:=��3���+*5�^����-10]ST��4P(��)��,@-/*%4~��*%�R7T�ON?>�-P�������W-1�6�����O$_��>:,

D̃(C º , C » )(t) = n
* º · h N?-P���6�����

0�*%,.�3$n*%�;����>
h
CO��$

n º -10f*%4/0:�#�����)0:�B*5�9��41( :���>:��`~���)���
D̃(C º , C » ) -/0j�;����0:��*%����4P( :��;>���`¼*50jN[�;4/4rC

�\2)�x����-10U,.�L*5��0f���+*5�
n ≡ [0, 0,±1]

� `�N?��-/�B�E,@��*%��0f����*5�x��-P�����;>
ω = 0

��>
ω
-/0xS+*5>�*%414/��4

���
n(0)

N?��-/�B��-/0?*%c�*%-/�<S�*%>�*%414/�;4Z���H�����
x G Y¤*� )-10�C ���J���)-/0F�L*50��fN[�x�+*L=%�x���z4/�"��i.$_�%>m�����f>:���%��0�5$

n � (t)
`)N?��-1�B�W-/0^4/-1���L*5>m-/�J�����U�L*50��V�5$g*H��>�*5��0�4/*5��-1���~`��92+*%&)>�*5��-/�x-/�J�����U�L*50��U�%$g*.>��%��*5��-1���

*5��&K��2�7)-/�<-1�G�����<��*%0��#�5$^*R0�2�ST��>:SZ��0:-1��-/���~Cl��$
n �

-/0V*%4/0:�R�����)0:�B*5�9��41(,:��;>���`g���)���
v
4/-1��0V-1�

�����
(x º , x » ) Y�S�4 *%�)�J*%��&�N[���+*L=��J��� �+��&M�����J���%4/4/-10�-1���v��-1,@�;0z�%$]��N\�v�;����-1��0z-/�������JS�4/*%���5C

DF�)-/0mS�>:��7�41��, *%4/0:�H*%>:-/0��;0F*%0[*30�2�7�S)>���7�41��, -/�.�����j�;&�c�� Y�$n*%�;�'���;0:�?*%�)&<�����;>��;$_�%>��'N\�jN?-/414T�)�%�
&)-/0��;2�0�0^-1�?�)��>��5C
?]�INvN\�e*%0�0:2�,.� ���+*5�

n
-/0~���5�¼������0A�B*%����41(fS+*5>�*%414/��4����m�����

x G Y�*� �-/0;C�DF���;�U�����g�L*5��&�-/&�*5���;0~$_��>�����eSZ�%��������-/*%4��;��4/41-/0�-1���'��-/,.��0¼*%>:�e�;-1������>�>:���%��0¼�%$
n º (t), n » (t) ��> h(t)

C¼DF����>:�;$_��>:�%`�N[�kNm*5�9�{���
*5�+*%41(	:;�U�����O&)��c�>:���U�%$ ���)�OST��41("���%,@-/*%4

h
CF}�-1�����xN\�O��*%�����%�^$n*%�!����>

n » ��2)�]�%$ Syl � � (g º , g » )*5��& N[��*%>:�R���%��*%7)4/�W���K����,.S�2)���
D(C º , C » )(t) 0:(",37T��4/-1�L*%4141(%`[N[�w��*%�����%�<����,.S�2)��� h(t)0A(",37Z�%4/-/��*%4/4P(�`"*%0mN\��414rCg�[2��?-1$�N\�Ui9���IN�-1��0m&���c%>����5`������;�#N[�f��*%�J2�0��f-1�9����>:SZ��4/*5��-1���X,.�;�����"&�0

*50^&)��0��;>�-17Z�;&W-/���"C%��C	�V��� �+��&�-1��0F>��"�%��0;Cg��$�N\�O�;��,.S�2)���f�����x&���c�>:���x,@*5��>:-P X�%$������O}"("41=%��0:����>



� � � �����	�
� s/o!s � ����
!p�
Bu!pts � �

,X*5��>�-  <�%$
g º *%�)& g » N\�xc��;�









4 5 6 −∞
−∞ 4 5 6

8 9 10 −∞
−∞ 8 9 10









.

� >:��,�����-/0kN[�^�L*5�X���%����412�&��]���+*5�k���)�'&��;c�>��;�]�%$
D(C º , C » )(t) -10 28

-1�.�����'��*%0��^�%$¼*x0�2�ST��>:SZ��Y
0�-1��-/����Cg}�-1,@-14 *%>:41(�`�N\�'c��!�[&��;c�>��;�

24
-/�z�����]�L*%0:�]�5$¼*OS�2)>��^>��%��*5��-1���~Cg}"-/���;�

n
�+*50[&��;c�>��;�]��N\�

-/�
t
*%�)&

D(C º , C » ) = n
* » · h ` N[�O�������;4/2�&)�O����*5� h

�+*%0]&���c%>����
16
-1�6���)�V��*%0��3�5$k*@>:�%�B*5��-/���

*%��&
20
-1�W���)�3�L*%0:�3�%$e*X0:2�ST��>�ST��0:-1��-1���~C�>v�30�*LN ���+*5�'N\�3��*%�l&�-1="-1&��O�����34 *50:�^��N[�#>:��N?0f�5$

�����z}9(�4P=��;0:���;>f,X*���>�-  �7�(
(1 + w

»
t
»
)
» *%��&W��7)�B*5-/���;&R�����3,@*5��>�-P �ST��4P(��)��,@-/*%4

M(t)
CfDF�92�0;`

�����3&)��c�>:���z�%$
det(M(t))

-/0
16

-1�R�����V>��%��*5��-1���+*%4{�L*%0:�z*%��&
20

-1�W�����H��*%0��H�5$[*<0:2�ST��>�ST��0:-PY
��-/�%�~C|DF���^�92���0A��-1���X-10�`�N?���;������>e�����^&��!����>:,@-1�+*%���k�%$

M(t)
0A��-/414��L*5�X7T�]&�-P="-/&��;&@7�(

n » (t) * ��>
�

S�2)����-/��cf-P� ���)�F�%�����;> Nm*L(H>:��2���&
�

N?���!�����;>
h
�L*5�.7T�mN?>�-P�������.*%0

h(t) = (1+(w
»
t
»
)
* ·r(t) CDF���U*%��0:N\��>?���H����-/0?�92���0A��-1���J-/0F(��;0�`+N?��-/�B�JN\�US)>��I=��U-/�#���)�x$_�%4/4/�IN?-1��c�C

% &	'('*)�+.- � � - + 

ω × n(0) 6= 0

�xp�0�
!� q%pj� � o!p � �1
�u � �
> � �1
!�+p � 

n(t)

s/o#�%s�3Is/o!s$� � 
����
1 + (wt)

» �
8 � �$� 
 � }�2�S�ST��0��<���+*5�

1 + (wt)
» &�-P="-/&��;0V��N[�w�;��,@ST�����;����03�%$

n(t)
Cl�[�;�L*%2)0��J�%$F���)�#>���4/*�Y

��-/�%��0���-1S ! ��C � � #^N[�H��*I=%� n(i/w) = 2(w × (ñ × w) + i(w × ñ))
`ZN?�)��>��HN\�HN?>��%���

ñ
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g̃ » -/0f���92+*54 ���#�����HST��4P(��)��,@-/*%4 g » -/�l�����H�L*%0:�z�%$\��N\��c������;>�*%4|������-1��0;`¼N\�.*%4/>:�L*%&�(i"�)��N±���+*5�^����-10]ST��4P(��)��,@-/*%4�-10]&)-1="-/0:-/7�41�f79(
(1 + (wt)

»
)
» C �^0�-/�)c &W*5S�4/� �© N\� �+��&6���+*5�^���)-/0-/0^*%4/0:�.��>�2��U$_��>

g » C[DF���VST��41("���%,@-/*%4/0 g̃ º *5��& g º *%>:�O41-/����*%>F-/� x º *5��&W���;�����5` (1 + (wt)
»
)
»

-/0O*�$n*%�!����>U�%$F���)�X>��INd�%$m7Z�%���
Syl � � (g̃ º , g̃ » ) *%��& Syl � � (g º , g» ) CW}�-/���;� D̃ = n

»» · D
*%��&

D = n
»G ·D `)-1�[$_��4/41��N?0e$_>���, 4/�;,@,@*��)C"�)�O���+*5�

D(C º , C » )(t) = (1 + (wt)
»
)
» · r(t) N?�����)�;=��;>

ω× n(0) 6= 0
CgQ]0F-/�<���)�US)>��"�%$¼�%$�����>:��4/4/*%>:( �)C"�8��`�4/��,.,@*a�)C"�$�3-/,.S�41-/��0e���+*��m����-10F-/0[��>�2��f-1�

*%4/4Z�L*%0:��0�C
DF��-10j4/�;,@,@*.����c��!�����;>'N?-1���l��2�>j�;����0�-1&���>�*5��-1����0]�������;��>:��-/��c<�����H&��;c�>��;�H�%$

D(C º , C » ) -/,HYS�4/-1��0]���+*5�f�����H&���c%>����H�5$e�����HST��41("����,.- *54
r(t)

-/0'��N\�J-/�R�����H�L*%0:�z�%$\*X��>�*5��0�4/*5��-1���~`Z$_�%2�>j-/�
�����x�L*50��x�%$|*.>:�%�B*5��-/���<*%��&�0�-P #-/�<���)�U��*%0��U�%$|*H0�2�ST��>:SZ��0:-1��-/���~C
ACPO[=V�� � C º -/0f*<�;����-1�3*%��& C » -/0f*<0A��>�*5-/c����f41-/���5CfQ'0f-/�W�L*%0:� ��`�N\�H0:�B*5>:�fN?-1���W���)�H���92+*�Y��-/�%��0 ! �)C��:� #?*%��&l*%0:0�2�,.�3*5c�*%-/�J����*5� m = [0, 0, 1]

� *%��&6���+*5�
A
-/0]*X&�-/*%c�����*%4�,X*���>�-  �*%��&

a º¤º 6= 0
*%��&

a º = 0
C\}�-1����� C » -/0?*z0:��>�*%-/c%�9�?41-/���]N[�U>��;S�4 *%�;�f�����x0��;�����)&W���92+*���-/�%�6-1� ! �)C��:� #79(

x
�
b − b � = 0.
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Bo!p � � �

Q^$a���;>^-1��0��;>:��-/��c
x G = 0

-1�9���H����� �+>:0:�L`+0:���;����&R*5��&#$_��2�>:���J���92+*5��-/���JN[�xc��!�?�����x0:("0A����,
f º (x º , x » ) = a º¤º x » º + a »¤» x »» + 2a » x » + a � = 0,

f » (x º , x » ) = b º x º + b » x » − b � = 0,

f G (x º , x » ) = n º x º + n » x » − n � = 0.

>E�l&����+���
g
�
(x º ) =

>���0 � � (f � , f G )(x º ) *%�)&¸�����;� D(C º , C » ) =
>���0 � � (g º , g » ) C±��� �����R�L*50��

ω = 0
N\�j��7�0:��>:=%�'����*5�[�����]���%�B*%4T&��;c�>��;�'�%$

f º -/� x º , x » *%��& t
-/0k��N\�z*%��&X�����]���%�B*%4 &��;c�>��;��0

�5$
f » *%��& f G -/� ������0:�R=5*%>�-/*%7�4/�;0X*5>��R���)�%C �]�;�����5`

g º &���������0J*G�;����-/�60��;�;��-1��� *%��& g » *0A��>�*%-/c����]4/-1���x-/�6�����
(x º , t) Y�S�4 *%�)�%C[DF�92�0;`Z�����V&��;c�>��;�V�%$ D(C º , C » ) -/� t

-/0?��N[�<-1�6���+*5�]�L*%0:�%C
��$k�����H,@�5��-/�%�W-/0'*<S�2�>:�H>��%��*5��-1���~` �����;�R�����H,@*5��>:-/�;��0'�5$g�����H&��;c�>��;��0f-1�

t
�%$g�����H������>�-/�;0j�%$

Syl � � (f
�
, f G ) *5>��





0 0 0

2 2 −∞
−∞ 2 2





*5��& [

2 2

2 2

]

,

>:��0:SZ�;�;��-P=��;41(�C�DF�"2)0�`'�����l&���c%>����;0J�%$U7Z�%���
g º *%�)& g » -/� t

*%>��R$_��2)>�C > -1���¸�����l���;4/S �%$
&6*%S�4/� �

©
N\�m0��;�m���+*�� �L*5�B�H���"�=<.��-1�����g�%$

g » *%0|ST��4P(��)��,@-/*%4�-/� x º ��*%�H7Z�[&�-1="-/&)��&37�( 1+(wt)
» C

�^�����;�%`%N\�[��*%�V&)-1="-/&��k���)�\4/*%0:�¼��N\�j>��IN?0{�%$
Syl� � (g º , g » ) 7�(U����-/0�$n*%�!����>�*%��&O��7)��*%-/�U* (3×3)

Y
,@*5��>�-P XST��41("����,.- *54Z�%$�&��;c�>��;�U$_��2)>F-/�

t
`����+*5�?��*%0F�����x&��;c�>��;�U,@*5��>�-P 





4 4 4

2 2 −∞
−∞ 2 2



 .

DF�)-/0 -1,@S�41-/�;0{���+*5�
D(C º , C » )(t) $n*%�;����>�- :��;0g*%0 (1+(wt)

»
)
» ·h(t)

N?���;>��
h(t)

�+*50g&���c�>:���m�;-/c����
-1�

t
C]���W�����V��*%0��V�%$e*@0:2�SZ�;>�ST��0�-P��-1���W�%$e*.��>�*5��0�4/*5��-1���W*5��&l*@>:�%�B*���-/�%�6���)�V&��;c�>��;�3,X*���>�-1���;0

*5>��




0 0 0

2 3 −∞
−∞ 2 3





*%��& [

2 3

2 3

]

$_>:��,dN?����>:�jN[�f�;������412�&��'���+*5�\�����f&��;c�>��;��0F�%$
g º *%��& g » -/� t

*%>:�j0�-  #*%�)& ��=��5`+>��;0�ST���;��-1=%��41(%C
Q]c�*%-1�~`~N[�z��*%�E&)-1="-/&��3�����z4 *%0A�j��N\�6>:��N?0U�%$

Syl � � (g º , g » ) 7�( 1 + (wt)
» *%�)&wN\�.��7)�B*5-/�w*

(3 × 3)
Y�,@*5��>:-P @ST��41("����,.- *54Z�%$�&��;c�>��;�U0:-P J-1�

t
���+*5�^�+*%0F���)�U&)��c�>:���x,X*���>�-  





4 5 6

2 3 −∞
−∞ 2 3



 .

DF�92�0;` N[�X�������;4/2�&)�@����*5�
D(C º , C » )(t) �L*5�G7Z�.$n*%�;����>�- :��;&v-/�������.$_��>�, (1 + (wt)

»
)
» · h(t)N?�)��>��

h(t)
��*%0F&���c%>����x���;�6-1�

t
C

��$gN[�V�;=5*%4/2�*5���
D(C º , C » ) 0:(",37T��41-/�L*54/41(X7Z�!$_��>��UN[�V>���S)4 *%�;�O���)�V���"�=<.�;-/������0j�%$ C » 7�(6��-/,.�&)��ST����&��;���]$_2��)�;��-1����0FN\�U�%7�0��;>:=��x����*5�FN[�x��*%�W*54/0��3$n*5�;���%>�-;:;�'���)-/0F&��!����>:,@-1�+*%���?-/�<�����f$_��>�,

D(C º , C » ) = n
»» · r(t)

CW}�-/,.-/4/*%>j���R��*%0��W��N[�X�L*%�G&)���+���J*�$_2����;��-/���
D̃(C º , C » ) 79(E�B�+*%�)c5Y-1��c<���)�3��>�&)��>f�%$g=5*%>:- *%7�41�V�;4/-/,.-/��*5��-1���~C^>v� �+�)&R���+*5�'����-10'$_2����!��-/�%�l�L*%�l7T�3N?>�-P�����;�l-/�W�����

$_�%>�,
n
» º · r(t)

N?-1�������)�60�*%,@�JST��41("���%,@-/*%4
r
C > -P����������0�*%,.�6*%>�c�2),@�;�9�@*%0z-1�M�����6��*%0��
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�%$x��N[�M�����)-/��0<N\�l�L*5� S)>��I=��l����*5�#�����;>��l-10J*GSZ��4P("����,.- *%4
p(t)

0:2��B� ���+*5�#N\�l�L*%� N?>�-P���
D(C º , C » )(t) = n » (t) » · (1 + (wt)

»
)
» · p(t)

`�N?����>:�
p(t)

�+*%0x&���c%>����H$_��2)>f-/�l�����z��*%0��z�%$[*
S�2�>��x>:�%�B*5��-/���J*5��&J0�-P #-/�#�����x��*%0��x�%$|*H0�2�ST��>:SZ��0:-1��-/���~C
?^��N N\�j&��;0��;>�-/7T�^���IN ���V�B�)���Bi@N?�)�;���)��>F*Uc�-1=%���XST��-1�9�

t 	
-1�@��-1,@�?-10[*USZ�%��������-/*%4+���%4/4/-10�-1���

��-/,.�%C@DF��-/0U,.�L*%��0xN\�X�B���;�Bi�N?���!�����;> C º *%��& C » (t 	 ) -/�����;>�0:���;�3*%��&E-1$[����-/0U-/0f�����@��*%0��.N[�����,.S�2)���j�����x-/������>�0:���!��-/�%��ST��-1�9��0�C �+��>m�����f0�*%i5�O�5$|0:-/,.S�4/-1��-1��(HN\�U��,@-P�[�����f��-/,.�jS+*5>�*%,.�;����>
���IN *%��&HN?>:-1��� C » -1��0:���L*%&z�%$ C » (t 	 ) C Q]c�*%-/�3N\�?,X*5i%�?*f�L*%0:�]&)-/0:��-/���!��-1���VN?���!�����;>e�����F��2�>A=��;0*%>��f0A��>�*5-/c����?4/-1����0F�%>F���%�LC
�|-1>�0A�L`+4/�!�^7Z�%��� C º *%�)& C » 7Z�U0:��>�*%-1c����?4/-1����0;C[���6����-/0?��*%0��xN[�Oi9���IN±���+*5�^�;�"2�*5��-1��� ! �)C����$#����4/&)0m$_��>

t = t 	
C �^�����;�%`+�����x41-/���;0F-/�����;>�0��;�;�^-1$|*%��&J���)41(<-P$������x���92+*5��-/���

a º + λu º = a » + µu »
�+*%0^*.>:�L*%4¼0:��4/2)��-/���

(λ, µ)
Ce��$

u º × u » = 0
`+�����;�6�����O41-/���;0?*%>��x�;-1���)��>?S+*%>�*%4/41��4~��>?-1&�������-1�L*%4tC

��$e*%&�&�-P��-/�%�+*%4/4P(
u º × (a » − a º ) = 0

�����!(l*%>:�3-/&��;����-/��*%4�*%��&WN\�H,X*L(6�B���"��0��H*5�9(6ST��-/���j�%�
�����;, *503*%�G-1������>:0��;�;��-1���vST��-1�9��C6�j������>AN?-/0:�%`|�����X41-/���;0V*%>:�XS+*5>�*%414/��4tCJ}��64/�;�

u º × u» 6= 0
C

DF�����~` 7�( �[>�*%,@�;> ½ 0?>�2�41�jN[�x�+*L=��O*%��-/�����;>�0:���;��-/���#N?-P���

λ =
det[a » − a º , u» , u º × u » ]

(u º × u » ) »
*%��&

µ =
det[a » − a º , u º , u º × u » ]

(u º × u » ) » .

DF�"2)0�`+N[�U�+*L=��x0:��41=%��&�����41(<4/-/�)�L*%>\���92+*5��-/����0?-1���%>�&��;>?���zSZ�;>:$_��>:,­���)-/0F-/������>�0:���!��-/�%������0:��C
?^��Nx`"N[�^���%��0�-1&���>e�����^�L*%0:�]���+*5�e���%�\7Z�5���.��2�>A=���0m*%>��^0:��>�*%-1c����\41-/���;0�C > C 4rC ��C c�C�N\�j*50�0�2),@�

���+*5� C » -/0f���5�f0:��>�*%-1c����LCV���l����-/0j��*%0��HN\� �+>�0A�x&��;����>�,.-/�)�V�����H-1������>:0��;�;��-1���wSZ�%-/����0j7T�;��N\���;�
C º *%��&G�����<S�4/*%��� P ����*5�3�;�����B*%-1��0 C » 7�(v-/��0:��>:��-/��c������XS+*%>�*5,@�!����>:-;:�*5��-1���v�%$ C º -/�����6�����-/,.S�4/-1��-1�x$_��>:, �5$ P *5��&�0���4P=�-1��cW�����J>���0:2�41��-/��cl�;�92+*5��-1���~CEDF��-/0H�;�"2�*5��-1���K-/0341-/����*%>3-1�G�����
�L*%0:�J���+*5� C º -10z*w0A��>�*%-/c����z41-/���#*5��&��"2�*%&�>�*���-/�#�5�����;>:N?-/0:�%CK��$'0�2��B� *%��-/�����;>�0��;�;��-/����ST��-/���&����;0F���%�F�  �-/0:��`�-rC �%C �����f���92+*���-/�%�#�+*%0F���z>���*%4~0:��4/2)��-/����`"N\�xi"�)��N ����*5�

t 	
-10m���%�^*3ST�%��������-/*%4

-/�����;>�0��;�;��-/����ST��-/���LCG�'�����;>:N?-/0:�%`k�����;>��J*%>:�#��-P�����;> �+��-1����4P(v��>H-1� �+��-P���;41(�,X*5�9(v-/�����;>�0:���;��-/���
SZ��-1����0�`�&���ST���)&�-/��cW���vN?���!�����;> C º 41-/��0U-/� P ��>U���%��CW��$ C º -/�����;>�0:���;��0 P -1� �+�)-1���;41(w,@*%��(
SZ��-1����0�`+41�;�

p
7T�x0�2��B�l*5�6-1�9����>:0����!��-1���6ST��-1�9��C?>E�x,32�0A�]�B�)���BiJN?���;������>

p
4/-1��0F���J���)�O�;2�>:=%�

C » C�Q'0g0:��*5���;&H-/�30:���!��-/�%� ��C���C��]N\�Fi9���IN¸*jST��-1�9� c
���3���)�mS�4 *5��� P *50|N[�;4/4)*%0|��N\�f��>:������c�����*%4

2���-1�?=%���;����>�0
u
*%��&

v
$_��>:,@-1��c3�����O���"��>�&)-/�+*5���f0:("0:����, �%$|���+*5�^S�4/*%���x0�2��B�6���+*5� C » -/0?c�-P=����79(z�����]-1,@S)4/-/�;-1��$_��>�, ! ��C�� #!C DF���]���"��>�&)-/�+*5����0k�%$~�����^SZ��-1��� p

-1�.���+*5�\���"��>�&)-/�+*5���?0:("0:����,­*%>��
[λ, µ] = [(p − c)

�
u, (p − c)

�
v]
C'DF�)�H��2�>A=�� C » �������B*5-/��0 p

-P$k*%��&W����41(�-P$ �����V���"��>�&�-1�+*5����0
[λ, µ]

0�*5��-10:$a(<�����f$_��>�, ! ��C	� #!C���z�����F��*%0��?�%$ C º 4P("-/��cf-1�3�����FS�4/*%��� P N\�?�! �S�>:��0�0k���)�FS+*%>�*5,@�!����>:-;:�*5��-1���
x(s)

�5$ C º -1�3��������"��>�&�-1�+*5���m0:("0:����,	�5$ P $_�%>�,.��&H7�(3���)�m=����!����>:0
u
*%��&

v
*%��&H���)�F��>�-1c�-/�

c
C DF���?���"��>�&)-/�+*5����0

[λ(s), µ(s)]
�%$

x(s)
-1�V���)-/0 0A(�0A���;,y*%>��

[(x(s)−c))
�
u, (x(s)−c)

�
v]
C'>v�F-1��0��;>:������-10 -/�����]�����

-/,.S�4/-1��-1�\$_��>�, ! ��C	� #!C[���6���)�V�L*50��U�%$ C º 7Z�;-/��c@*@0A��>�*%-/c����^4/-1���fN[�Uc��!�j*.�"2�*%&�>�*���-/�x�;�"2�*5��-1���~`*%��&�-1$ C º -10^*.�;����-/�fN\�V,32)41��-1S�41(.N?-1���������x&����)��,@-1�+*5����>�0m���@c��!�j*zST��41("����,.- *54����92+*���-/�%�6�%$&���c�>:���3$_��2)>�CVDF�)�.0:��4/2���-/�%��0j�%$k���)-/0f���92+*���-/�%�l-/�
s
c�-1=%�H2�0j�����z&��;0�-1>���&w-1�9����>:0����!��-1���wSZ��-1����0
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ċ(t � )

�
m = 0

-P$g*%��&W����41(<-1$
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∣
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β sinh u cosh v
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